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Dimensions of momentum are

@A)
©

ML T a(MLT-l

ML2 T2 - ML? T

e pasen ufiormmisamear

(A)
©

ML*T - . ® MLT'
ML 2 T2 D) ML T

Technique used in mass production of integrated chips is

A)

photography ' (B) ' atomic force microscopy

y photo lithography \ (D) holography

-

emhdleremasi L. ;ﬂl:JBBGDGlTT'. <ifls  oereild Qelwliu@aspsrs s AsmBom Lb

uweTLBHESOUGEDE? :
A) SCum CurdlgmA _ ’ - (B) .sq@veﬁlm& ann&CrrevCsma
© - '

Gu G SlsCardyma (D) CaprCordyma

. - Asatellite is o'rbiting,th'e‘éarth, if its distance from the earth is increased, then

. (a)  its angular velocity would increase
‘ (b) its linear velocity would increase )
{(c) its angular vélocity would decrease
(d) its time period would increase -
(A  (a) and (b) are correct B) (a) and (c) are correct
(€©) (b) and (c) are correct ‘y (© and (d) are correct
& G&u.lgpa)a;('p’&rrm wplenws s su@é]mg)gj qeﬁlu&]eﬁl@p@ BiGe &mguurrewg,uﬁ]m Glgrrma)m |
- DiflsMssuc L, ' -
(@) g Garaws Hons (Beua;w a{@aarﬂasas& &7.@10
(b) ozer GEWGGWL®§ Sang Cauasld oflafsss LTy
(©)  ogen Camawrg Hens Causld Garpwis sa@Ld o
(@) | SDIHET FHHLLITDSMW (T Pev &HB] QuUHLD STeLd e@&;nﬂaaasa; m@m
Q)  (a) vppw (b)-sfwrerene  (B) (a) wHgd (c) sAwrereney
©) - (b) q.og')gmb'(c) FRlwreneneu , D) (c) wpmpd (d) sflurareney
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il

4. Find out the incorrect statement(s) :

I
IL.
IIL
Iv.

@

(O

Magnesium can reduce oxides of Alumuuum Zinc, Iron and Copper.A‘
Copper cannot reduce the oxides of Iron and Zinc |
Zinc can reduce the oxides of Al and Mg
Aluminium can reduce the ox1de of Mg

TandIl o G I and IV .

III alone o : O v alone

gsumrrau G&rrgp@g)m_rrasmma; SITERTS; -

I Sgiefwb, A, GHLOL) LOHMID S egyi;mau@mm Om&aﬁﬂm&@@ﬁsw Gmu@mg]
L @by whgid eﬂrma.s D smavHsemar STUUIT. 9@5@@1&1@@&) - :
.  sgudefiud whyn Qm&sﬁﬁwﬁﬁm %&mw@mm Aud @@s@eﬁmg ‘
IV.  Quaadffwusder smsmi aguuﬂaﬂ wib HéEEHDns
@ Topgol ®) HlwppiIV
© Moled ' @) IVwl@od
5. Th'e blue colour in Borax Bead test is due to the presence of
(A) Iron (B) Nickel
W Cobalt . (@ Zine
 Gumprsavioanfl peild fo Apsms d&rr@é;@mgaﬂmb
@ g ®) Hasd
©- Gsmumao o D) Ams
6.  Choose the incorrect match : : :
(A) Baking soda Sodium hydrogen carbonate
(B) Washing soda — sodium carbonate o
(C)  Bleaching powder — Calcium oxychloride -

M Limestone — Calcium Sulphate '

goupnen Guw@,sgg@; Gairey Qe :

- (A)  sewwe GsrLr - G&mq.u.u_b @anirRen anTGurGen . 7
- BY swee Gsrin -~ Camquwib sniLGan _ * O
© et ST — sn@flwib selgGGarmeny®
D) semamidLEED - STHALID FHCLL.
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T - The biogenesis of 80 S ribosomes takes place in -

. (A) Nucleus
\,('B)' * Nucleolus
(C) Golgi complex
(D) Endoplasmic reticulum
80 S enyGuCGsmbser 2 HuFHwMGLL G 1b
A  Aysflefiwey
B PusdaiGuraen
©) CaraGs sl Rm
D) srsiwCerﬂmrrdm&& e
8. A sample of 100 persons, 84 were Phenyl thiocarbamide tasters (T). Calculate the gene
frequency of non-tasters (t) .
@ o6
B 04 | .
(C) 0.2 o I , .
D) 08 | |
100 puiser QararrL wrHAGS SGenened g(ﬁmnswﬁué)w@ (T) seveu 2 amitGaunit 84 Guir erenpmed, .
sevau 2 amrgeuisafien g flapQeuss (t) s sarsdl B ‘
A 06 ' ’
B) 04
© o2
® 08
9. ‘Which of the following statement is wrong?
(A)  The colourless plastids are leucoplasts
-« (B) Amyloplasts are examples for colourless plastids
| (C) Chloroplasts are green colou;ecf plastids
@7 Aleuroplasts are starch storing plastids. -
&Gy Qar@ésliL_Gerer smpmsaiicr gupreng) e5l? |
(A | My sCarliermevl_Hser eranLicnes SipwHp sefllstisemm@Ln
.B)  ewCariame s arerimat fipwHo asewﬂ&:ﬂé@és@ T DSE ST_REETTGL
©) @Gmrr(‘égrrﬁmmb&@&&r TrenLIa) LF@E Bipiorer GaTTevi L ST
D) SUCTTieTTeLL D& eraueme svLmiTEflamer Cafls@ b eTTavl iy SeT@Ld
L 3 5 ' _ ACHC/17
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10. Transposons were orlgmally discovered from which of the fo]lowmg . ‘

\M Maize - ' . (B) Human

(C) Fru_zt-ﬂy—Drosophila o (D) _ Bacterium

’ &Qsmgmm;ﬂm Lq.ryrrmav(‘éurr&rrm @pgaﬂw ergefled @@pg} sam@lfmq.&a;uuu_@l? .
(A) wEEECsTeTD : ) _ (B) Losoﬂgsm '

© up-rr-1g GrrGemSeon D) unégAwr o

11.  Which one of these are ca]led polymorphonucleér leucocytés? -
(&), T. Lymphocytes |
b Neutrophils
(©)  B.Lymphocytes
D) ‘ Monocytes

Qeupdled a1z LimeSlomiGuT ﬁ@éﬁﬂunﬁ gﬂg,(%larrewl_'_a;eir amﬁu@&ie&rg.pm?
@) T SuGurest s : N |
B Ayt Crmlcsd o - -
: (C) B. eSkh(Ber@&t.&eh | |
D) CurCamas’ ser

“12.  The hormqne responsible for the process of parturition
(4)  Thyroxine | o @ Oxytocin
(C)  Secretin ‘ ' - (D) Vasopressin

wslGum Blspsflanu eﬁ]musqﬂnu@g’sgﬂb émm'rGwrrdn o g?
(A)  ogyradlen - (B) ..-gi,&aﬂch_nélm

©)  Goéhgen o (D) mn@&mﬁ]rﬂﬂm

ACHCT | e



13. Match List I and List IT
List I '

(a) Yardangs
(b) MOfaines
(©) Canydns ‘ o
(d) Stalactite and Stalagmite
@ O (©) (d)
@A 3 2 4 1
®) 4 2 1 3
N(> gl 4 2 1
' 3 1 2

@) 4

W o =

afies I pmb euflens Ilgmer QurmsgE

auflang I
«(a) qurl'n_.miJGﬁ'J
. (b) errq)l;ra'mﬁr
(@ Gaemunenser
(d) evLrsmLL HHD eim_r;a)é,anm'_
(a) (b) () (d)
A 3 .2 -4 1
B) 4 2 1 B
© 3 4 2z 1
4 3 1 2

D)

1.
2.
3.
4.

List IT

Lime stone. region
Rivers

Wind

Glacier

| eufleng 11
FeRTERTILDL LrCgand

- <0

STHH)
usnﬂu:mg

14.  Identify the one which is a volcanic-crater lake in India

A)
©

Chilka lz_ake in Odisha
Kolleru lake in Andhra Pradesh

(B)

Dal lake in Srinagar

\y Lonar lake in Maharashtra

Qsr@astiuc_Herer @b gRlsEser arflneme eumi gflenw Si@LwIamd sTems

Q) gyl 2 drar AoaT ol

B) ubpsfe o drar Lme gl

© 5Hra UGg&ggﬂw 2 areT QsmoGan gfl (D) W&TFTESIY FTEllD 2_aTar Gaomprir el
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15. The peroentage of SC papulation to the total population i in Indla as per 2011 census is

W 166 _ ' (B) 162

© 160 D) 17.4

L wa;s;Glgrrcn& a;m‘r&@es@uu 2011-én Uy, errggs m&asn..@grrm&tﬂw gnggﬁuul_l_

au@uilanflen sgaigid _
(A 16.6 (B) 16.2

(C) 160 D) 174

7

16. 'I‘he programme associated with ‘Food for Work’ is
| (A) Antyodaya Anna Yojana
B) -Annapurna Scheme
(C)  Save grain campaign
y Sampogrna Gramin Rozgar Yojana

‘o ewreflpana Couanay’-uyL_em Qg;rru’rqmi_u_l Sl

(A) BpsFCuresSLT Siewen Cuirgerr

B) sienamyiertr S b '

©  sreflu Lngsmiy @uésh o
D) sy et Aymslen Grrgar Gmﬁgmﬁ *

17.  Assertion(A) : The area lies to the South of Tropic of cancer is hot
Reason (R) : Tropic of éancer divides India into two halves.

(A) Both (A) and (R) are true and (R) is the correct explanatlon of (A)
Both (A) and (R) are true but (R) is not the correct explanatlon of (A)
(C)  (A)is true but (R) is false
4 (D)  (A) is false but (R) is true .

S sy (A) : sLsGrasse QsHGs 2 drer LGS QmQLlLbnargj
srrens (R):  sL_sCrans Qpdwrenau @ s LGHsaTTS lﬂlﬂsﬂmg

@A) (A vpmyo (R) mﬂu_urargj, Gmgum (A)-ér sfwmer aﬂm&&m ®) %@w o

- B (A wpgd (B.) sflwireng) cgbama) R), (A)-ex &lﬂu.man efenasioe
G Ash R gaum
D) (A sagy: R) s
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18.

19.

A 3

¢

Match A with B, and choose the correct answer from the codes given below :
A » A 7 B
(@) . Treaty of Pondicherry 1754 1
(b) Treaty of Madras 1769 2
(¢) Treaty of Mangalore 1784 3. 1 Mysore war
4

II Carnatic war

III Mysore war

IT Mysore war

(d) Treaty of Srirangapatnam 1792
Codes :
(a) (b) © (d)

- 4 1 2
N g B 2 1
© 1 3 2 4
D) 1 2 4 3

Ay eanBg Guﬁ@gﬁ ECp Qan@BésLiu_([Herer @;ﬁ]uﬁ@&aﬂsﬁ]@‘fﬁg ;ﬁmnm MenLeowr CaipOsEH :
A B

(a) . 1754, urawry &FGafl o LU sans 1 APSTHTLD ento@, it Gumi
(b) 1769, Qsenenen oL anug &H6ns 2 @uetmb mm'@r'r Gum
(c) 1784, bmsEni aLs&rQqéaiss 3. WSOMD enlo@, T Gt
(d) 1792, Brastulger 2 Laugsms - 4. @reLmb simrsl Gum

CICE |
@ B © @

A 3 4 1 2

4 3 2 1
© 1. 3 2 4
@) 1 2 4 3

Even before the Meerut incident in 1857 which nature infantry at Berhampur refused to -
use the newly introduced Enfield rifles. :

-(A) 17 Infantry , (B) - 18% Infantry
y 19tk Infantry . A - (D) . 34t Infantry

1857-1b en® By fapey gpuBasnE parGu, Quirapmoyfa apg sC58 Lmsefiar Wfay,
udlsnas Sifigpan Aaiuiul L aania@® guursdeow Lwau@SS LYSSS!
A) 17-bgoriuem. » (B) 18- genyliLienL
©) 19-bsesiuer | D) 34-b seriueL
9 e  ACHC/17
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20. Who: among the followmg descnbed the educated Indlan Commumty of the Indian National
- Congress as ‘microscopic mmonty

(A)  Lord Lytton . (B) Lord Curzon
y Lord Dufferin‘ o - (D) Sir John Lawrence

&p @QSIUISII_I_Q.IIT&GIﬂCD RbHu Gguﬂu.l snridlyadla 2 arer UW @pﬂw @@uﬂmmu gjsmmﬂu.:
Spurereneudien” crarg s flweuit wri?

(A) aSlL_L.ar Gy ' B) sisan Lﬁluq
© Laoferfpy ' (D) &It gl QmyTeNeV

'S

21.  Consider the followmg statements ‘and choose the, correct answers from the codes given
below : ‘ ‘ '

I. On Feb. 18, 1929 the Slmon Commlsszon Landed at Madras
i1 - A. Ramasamy Mudaliar of J ustice party welcomed the Slmon Commlsslon
III.  Rajaji was arrested and sentenced for six months in jail due to Vedaranyam March
 IV. . Swadeshi steam Navigation co.inp'any' was founded by V.O. Chidembaram Pillai
A - 1V is correct ‘ | |
I. (B) IandlII are correct
© 1 only correct

y I, II and III are correct | .

Gsn@uuut.@awr uTsALiismar smeHled Gemsm@ sflwrer eunédluwnb/ IsaneT @[ﬁlﬁ@&aﬂaﬁ@pgj
@gsrsq Qalweyd. : Ny

L 1929, Hoyaufl 18 aargq n&LOGH @@ Gmmm UBSS.
II. #g8&s Hulé @@5_55& grosms apgeSuimi estoen Gpereu aurGaudpm.

HI.  Ceugrmperund wrgHegssns @mrgrr@ o Qeiwtul® g Locrpm eﬂm,rpg BT Gna
Quppmi.

IV. a2 fgbumd lﬂd‘fﬂ)ﬁn’&@ﬁﬂ Bomefl st sbQuefiew Siewssn. |
A Iv ‘ws'_(al.b. &M ‘

®  Iuwpgo 1T s | | |
© Hocposh | T
®@) I, Hwpg I &A : | B

ACHCN7 R 10 ’ | .



22,

23.

(&)

(B)

©

N8

Which of the followirig statements is not correct?

Rajaji Formula was proposed by C. Rajagopalachari with a view to resolvmg the
pohtlcal deadlock in the country . ) '

In November 1932 the British Government called the Third Round Table conference
in London

Sir Cripps arrived in Delhi on March 22, 1942

Cripps Mission proposed the formation of Constituent Assembly

&gpe;aﬁm_ aursdukisele aps aursdub sfuraiameu ch)e)?

@A

(B

©
D

1

2

3.

4
@A)
©

C. prgCarurenssrflumfier ¢ Urrggrrg@ ‘é,]L_I_LD Bl ige Spflwied Newrsons Sié@En Conadd

Qsresr®eurliulL g

1932, peubulé Guswrl_asﬂco (pangprrm QL Cuweng wABETH L_‘ﬂrﬂuq.czq. .=9|rwrrrs.:e;s;_r,gyrm~

sl oulLg
Afved grgiEE W ALadlEE 22 wrié 19426 eubss)
AN g1g16Ew AT W Pifermu sou Siwwss uibgmr Qauss)

 Who were known as “No-changers”?

Sardar Vallabhbhai Patel

Dr. Ansari

_Rajen(ira Prasad

Sindhia |

1, 2 and 4 only | _ B 2,3 and 4 only
1, 3 and 4 only \V 1, 2 and 3 only

“orppb AGHUTCSTT” T HMWPSSILILL QUFGET wiT?

1

2
3.

4

A)
©)

FgmT cudoumD UGLE -

LrsL. jengmh

rfrrG&{_'r;@u Yyers

A Slunr
1,2 wpmb 4 w B B) 2,3 wHmbd 4w’ Hid
1, 3opmib 4 vl Gib D) 1.2 wipmtb 3 @b

11 | ~ ACHCN7
[Turn over



24, Match List I with List II. Choose the correct answer ﬁ'om the codes men below :
‘ List I : o List II

(a) Purandaradasa 1.  Tanjore ‘
(b) Arunachala Kavi 2 ~ Tiruvarur
(c) Syama Sastri 3. Pandharpur
(d) Tukkaram 4. Dehu '

(a) ® © GV
@A) 3 D) 1 4

3 1 2 4
€ 4 2 1 3

4 1 3 .

D) 2

ulgwer I e e utiquied Hgg Gurr@gsﬁ sRwren sﬁlan_a)u.l @ﬂﬁ@&aﬂsﬁ]@w Gpnm@g@
uig e I l_ll_lq.UJa) i

~

(@ . urbsrsrer L sepengpi

(b) SmemisR sl 2. Smeunmi

(c) Swmom srev i 3. UBSTLT

(d gssmmbd 4.  Cganpe
@ ® ©

A 3 2 1 4

B 3 1 2 4 '

© 4 2 1 3

® 2 4 1 3

25.  Which Maratha ruler of Tanjore was called as VldyabhOJa"

(A) Sahap
\K Serfoji 1
(C) Ekojil

(D) Ekojill

“aflgHuiCumggn” G’“’Q’ DIPWPEEUILLL FEHans Lourrgﬁlu .;g,t._élu.urarrr u.urm?

(A)  srgng

B)  pgemd syGungd |

©) oppomd a&Gangd) S S
D) @Goem b créGangd -

*>

ACHCNT - 12



26.

Which of the following is not related to the Justice Party’s achievements?

(A)
(B)
©

The Hindu Religious Endowment Act
The Madras State Aid to Industries Act
The Staff Selection Board

‘ | y Establishment of Kamarajar University

a7,

Spaar_cupila erencu BHS s Hufen srsemany e Qgm_mldersg?

A
®)
(&)
D)

JONY-S arp@mwmé.él'_ub
Qgenenest wmfle Qgﬂ@é) 2 gellé &L b
uenflwrent Gpireyd @

SNOIIRT LUDEME SLPFD SAMDSEILILL G|

Which of the following pairs is/are not matched correctly?

L.
IL
II1.

| \_U{ IVonly_ :

(B)
©

D)

Communal Government Order - 1921
The Staff Selection Board —  The Panagal Ministry
~ Annamalai University - 1929 '

Defeat of Justice Party -~ 1935

11 and II1
I and IV
I and ITI

Epsrepibd @mwéaﬂdj.crgl/ ereneu FRWLNE Glenamréseilcvenad?

L
II.

III.
Iv.

A)

B)

(©

®

@enaunfluner o7& oyememt - = 1921
Lesflwimart Gsirey aurflun — . USTED SIFETHI
SISTRTTOMDL) LIDSMDEHPHD - 1929
» B8& 58 CareoreluenL g - 1935
IVoipw
II pmio 11T
II wppw IV
I wpgie I
13
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28.  Match List I with List II. Choose the correct answer from the codes gwen below

.

ListI : o _ L15tII =
(a) - Areheeological survey of India . 1. 1972
(b) Naﬁoﬂal Azichives of:India‘ 2. | 1909
© | Madras.Recor;i Office | . 3. 1891‘:

(@) Antiquities a;nd Art Treasures Act 4. 1861

4

@ e @

a 3 4 @ 2 1
N A T -
S : R
© 2 3 - 4 1
® 1 3 4 2
uL_Lq.u.lsv Iag uligwe 11 9..1_667 @mm,sg, &Gl@ Gsrr@asa;uug@mm uutq.u.ndlaﬂ@pgj Fwren
aﬁlam_enu.lg Ggrrm Q&u.las v
w1 ' v . - | - ULtq.il.lé)’ I
(@) Gsrdduduriuriesgep 1 1972
b Csdu gaemssmnss . . - 2. 1909
(c) Qmﬁqnﬁu.ﬁmwa{@émsm o © 3. 1891
{d) . Qgr{é)@urr@dr WHOID S muqeanm FLLID 4. 1861
@ ® ©© @ L
@ 3 4 2 1 | o
® 4 .3 2 1
© 2 3 4 1
D)y 1 3 4 2 i -

ACHCN7 - 1 e



29.

30.

y | _

' QaET@astILCGerer APBOIDESTEHET LJI;lq.u.JGIDGDu.]lb, Seuisdm pLsHL 2ess sOP Il
QLrsemenyb QurpsS, sflurer efleeow GOUpsdie @bz Carbasw.

Mention the name of the leader who went to London to present the despicable position of the
Non-Brahmins before the British parliamentary committee for demanding the necessnty of
‘communal representation and died in London.

(A) Thiru M.C. Raja ‘ ‘ (B) Thiru Natesa Mudahar

y Thiru T.M. Nair - (D) Thiru Pitty Thlyagarayar

- aguyarfl Grdfdssusdan @eatdlumwwrmbea EAHOG UTTTERLETRS Gweller e

war_aflé) T@sgIMmTEsayD FmOTT ammn@gwﬁlm @k@‘r_ﬂa)mmw aT(H&EIE Sapad e e GFenp
Curg), 2mGaCL QnHS Semeaeuit wiri?

Q) . aw. 8. grgr B Sm sGLs psduni

©) O g.aw. prui (D) B g Hursgru

Match the Chief Ministers with the spots where the World Tamil Conferences organised by

them and choose the correct answer from the codes given below :

: A , B
(a) Mr. N. Annadurai 1. . Madurai
() ~Mr. M. Karunanidhi - 2. Chennai -
(¢) Mr. M.G. Ramachandran- 3. Tanjore
(d) Miss. J. Jayalalitha 4. Codissia

@ ® © @
A 2 3 4 1
B) 3 2 4 1
©) 2 3 1 4

2 4 i 3

(@ do b &aimmrrgmq' v 1.  wgenr
(b)) A . smRTTHS 2. Qaemenes

(© & .. Qrmosshdyen 3. sEpeTT

(d) Qseed Qg. Gggu_lé)aﬁ,sh' 4. Qamig Sl

@ ® © @

A 2 3 4 1

®). 3 2 4 1

© 2 3 1 4

D 2 4 1 3 )

15 . . ACHCN7
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31. . Match the following and select the correct answer : _
' P.V. Narashimma Rao

(2)
- (by

© .

(@)

"

©
D)

Planning and the poor' 1
Democratic Socialism 2.
Second Five Year Plan _ 3.

4

The New Economic Policy, 1991 :

@ & © @

3 4 1
3 2 1 4
1 3 4 2
4 1 2 3

‘B.S. Minhas

Jawaharlal Nehru
P.C. Mahalonobis

Lﬁlmm@mmajpmmu Gun@gﬁ slﬂu.urrsm cflen_enws Gg,rrp@g@&&mw

(a)
(b)
()
(d)

A)
B).
(©)
@)

éh_t_L&L_gym TR PEEHLD 1.
QGBS &wggm;b 2
@rein_mb gbsras® S ib 3.
1991-1b e ® uSw QurmemsTys Qsndtas 4.
@ b @ @

2 3 - 4 1

3 2 1 4

1 3 4 2

4 1 2 3

o 9Len. ;r;r;é’ll.ommrm .
. G.erev. WenapTed

geuanirered G .

9.8 banGenGpriey

32.  Which of the following is not the other name for New Agncultural Strategy" :

A)
(B)

Modern Agrlcultural Strategy
Seed-Feruhzer Water Technology
Green Revolution

“@_( New Revolutibn -

Y
B
- (©
@

ACHCN7
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yHw Yy 8
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Which of the following scheme aims at providing dwelling units free of cost to the poor
families of -Scheduled Castes and Scheduled Tribes?

(A) Indira Awas Yojana

(B) Antyodaya Anna Yojana

(C) = Gram Sadak Yojana -
y Ambedkar Awas Yojana

Spéaa. QLuﬂaaﬂéJ. ag eupenouder eun®d H Horell WESEREGWD, UPRGUGSaTmHESLD
Bews dpsdr sefiEdlenpg?

(A) @fjﬁqn Dleumed Cuirggesn

B  epsCurgur e Guinggam

(©)  &gmd sré Cuirgenr

D) awCussi seurey CurgenT ’

The Uruguay Round Agreement was assocmted w1th the setting up of
(A) WHO - G WTO
(C) WIPO | (D) World Bank

9_@@(2&1 L @UUBSSHDEL QHS ;ﬂgjmmm Ggwmge&]&&uuLLgm@m (A3 (W a..awr@
A)  WHO i ‘ B) WTO _
(©) WIPO ’ | D) cosamd

In India, the proceeds of disinvestment has been put into consolidated fund which is used -
for

: M Transport development and social sector schemes
- (B) Poverty alleviation

(C) - Employment generation

) Mootisg budget defici |

@pﬁuneﬁlw apogar QaualuS e apaid HeLs@n uam'gang, @@meﬁmmmg ‘[ﬂﬂuﬂw G&ﬂMuUI_@
g SpssanLapdbE Lwau RS GEang ,
“(A) Gurra;@mqw uaTT&EAEE@ OO FAps Gian S b

®)  agewgfudpe |

(C) Caeeaniiou afsiluughe

'(D) HHO upprsgenew sAQaw

17 | . ACHCN7
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36.  National policy on Education announcement of free and compulsory. educatlon for children
upto the age of 14 was based on the recommendatlons of

(A) Umvermty Educatlon Commlssmn

@f Kothari commission
(C)  Mehrotra committee

M) National Knowledge commission

Caédlw msﬁ] Qanerensuficy u,ﬂ;r,rrar@ mu_ngj euenwITes @@pﬁ)g&;@&@ Qwaw LD[DQJI.D SLLTUG
seellens euiphIs, ulﬂpgmry Qeligg: -

Q) ubse@sss swl G
®)  Cangsri @

©)  QuanCrrgym &85

D)  GCsdlu siflaysmit G

37.  The rate of saving is low in India for the following reason

I Low per capita Inéome
IL Poor performance and less contribution of public sector _
III.  Poor contribution of Household sector ‘ . R ’

IV.  Savings potential of the rural sector not tapped fully .' :
W I, H, IV are correct . (B) I, IT and III are correct - -
(C) I, 1L Il and IV are correct : D) 7 I, Il and IV are correct

Epsacm_ arpesmusamd QbHwirefer Cailiy sﬁleﬂglh. GPDAITE 2_Tengy
L GODhs FOT QuBOTEID -

CIL Quirgys giepuien Guorsiorer QewdbUTE ‘LD[_i)Q]Lb LMk
‘III. ‘ @Qﬁug gja);puSﬂdJ Gl Qem @mmgﬁg, LIk
IV.  &ymou ypiisafien Gsud LysHmen @p@mmm & QqLurmu: ‘
@ LI wpgid IV &f S, (B LIuwpge s
© LIL I opg IV o . @ LILIVsA

ACHCn7 R 18 | J_ *
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38.

39.

A money bill can originate

A

"

In either house of parliament

Only in the Lok Sabha

(C) - Only in the Rajya Sabha
(D) Onlyina joiht sitting of ‘the two houses
e LDG&H’ﬁlﬂ' Ggrenmieig)
(A)  umpTEBLEND Ao swasafie
B) wasenemauudd i Gib
©) mnﬁmrﬁ:sm@muﬁ]@ LDI'.@LE_)
D) @ranl Siwaseien sl B Sioielar GLTg) wLGLd

19

Tribunals exist in order to provide simpler, speedier, cheaper and more

Assertion :
accessible justice. .
Reason : Tribunals have limited jurisdiction and their errors are subject to judicial
review. ,
(A) Both [A] and [R] are correct and [R] is correct explanation for [A]
M Both [A] and [R] are correct but [R] is not the correct explanation for [A]
(C) [A] is right [R] is wrbng ﬁ
(D) . [A] is wrong [R] is rightv
EN0 B arefiento, eflenyey HmID maSqurr'tasr BE sefiliughéans Sriurukiser @@éeﬂd@m
SMJERTLD ;,ﬁr'ruurru_néumﬁér TOM®  euMTUNESLILLL G| Gm'gmb Simeusaflen  geumser,
BAUyemmueiinE e UL g.
A adp wHPL s  HEW @lf%ﬁ'ﬂ'@t}’) élﬂquréﬂcbaJ snyewTid  SmpMihésnen Fflwimer
eflen&sTELD ' ‘
| B) by wH@D ‘a;m;mnh 2du Qraw@n sfluraremey. yarmd srrard sphlpsTer elorssn
T
©€) mpy &l snyemd goumy
D) sapm seum sTyERID F4

n

ACHC/17
[Turn over



40. Which of the following statements related to the central administrativé_ tribunal are correct?

1 - It 18 a statutory body
2 Ita members are drawn from admmlstratlve background only
3. It is not. bound by the procedure prescribed in the code of civil procedure
4 Its Junsdlctwn corers the members of All India semces as well as central services
and central govt posts
5. It was set up in 1985 _
(&) 2 3and5 -_ B) 1and4
w 1,3 4ands . ©® 2amd3

&G gquuL.@araT sapmisafies w s ;ﬂwesrrs 5rruurru.|,5§u_ar Gl,srn..rruml_y.: nﬁm&m crg srﬁmm@

Tens Safy?

1. @ 9@ Sl fraunrer siewliy |

2 @5« o pdeniisar Blieunsis ﬁmardﬁuﬁlaﬁl@w srew cu@élmmr&m

3. cofawle s sﬁ@&@s@ e LUl 50 TR | ",.
4

5.

@

©)

-

<80 SpHu uefisdr, wiHu umfsdr m;pgm mg.ﬁu.s SIJSTEE ugeﬁuﬁ]gar@amsr u.ursu@u:

. Dsér sPaTy arhowEs n_l_ua._s_ama;err

@M aga)wuq 1985.@@ q,aw@ qmu@w_:un_l_g

2,3 Lo;ngl.o 5 ' ' | (B) 1 wpmid 4
1, 3,4u>|pg)m5 C ' (D) 2mmgm3 '

41.  Who has the authority to endorse that a bill is a money bill?

A

®B)

©

\M Speaker ‘ ' | |

WIRT @1 Locsrrplr ‘B wGsngn’ erebgy ,Srrmrraﬂsgm aﬁ&mygm,s Qumg @qgsﬂptm? |

Y
®)
©
@)

ACHCNT

Finance Minister
President | - -
Finance Commission - S .

A sicbossir
BlaLIrS FEauT
S yeemuid

SLIMBIUIST
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42.

43.

44.

Article 370 has given a special status to
(A) Sikkim

: W Jammu and Kashmir

(C)  Nagaland A
D) Arunachal Pradesh

il g 3706w Lilg. Spuamyd auprislLILL g
@A) Asfp -
B g wbyb srapsi

(C) prarerpgl

D)  <smemnse ArGged

In which one of the following year was the Supreme Court of India inaugrated?

(A 1947 : - w 1950

) 1951 (D) 1956

GeauHid eTHS UL SH. GHSw e &s5 weplb Agm kil maussiuLLgi?
@A) 1947 o . (B) . 1950 |
(C) "1951 (D) 1956

The object of the adjournment motion in parliament is to

(A) Topple the govérnment

) (B) " Collect information from Ministers

© Make a cut in the budget proposals

o W’ A definite matter of urgent public importance can be brought before the House

urgrEnapSHo, oy Sronengdlen @HeCaremneang
| A  srsrussas esemmﬁug _ |
@) m;bﬁtﬂ&aﬁl_lﬂ@{bgj FacuEMar QLpeug) -
©) ara-Qsaey S ksefio awm Qaut_en BinorefitiLig
(D) QuegwasEpsE pad @b @LLL.LQWGM Mg WHMP SIQUFIIOTE JMEUEE (PILITE BaTarT(H
UmaGl ‘

21 ‘ ACHC/7
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45.  Who headed the Chairmanship of Official Language Commission in the year 19557

(A)

Abul Kalam Azad

~ W B.G. Kher

(C) Syama Prasad Mukher;ji’ "~ (D) Ayyangar

@)

©

SILJSD HQDMLD DLEVTS

Swimor ﬁj&ﬁ{s &g

1955 — gyt @yaiia ) Sigaias Qomf oyeaLisHer Smaamo QuyICienu eulgBali wimi?

® 96.Cst -

D) enwksmt

46.  Match List — I with List—II : -

(a)
(b)
(©
(@)

A

T

© .

D)

Personalities
Virandra Patil

" Ajay Mukherji

Sardar Gurnam.Singh

R.N: Singh Deo

@ 0 (©

[ STy
L - )

~ States _
1. West Bengal -
2, : -Orissa
3. Karnataka .=
4.  Punjab
@
4 -
5 ~—
1
3

: u.|'_|q.u.1d> I-guiquell —o1 ér QAurEss

(a)
(b)
(©)

d -

A
- B
©

D) -

- ACHC17

gmwmﬁ&qir
SCmp AT Lmed>
Sis cipahg)
s G Sk
Q,_fr.er&r. Sris 19 Cuurr

@ ® ©

W DD W
(R SRRy
=W N

o = N A

wrhlekisar . :‘ ’
1. Gup@ eutisnand
2. ._ gifleor |
3. STHIL&T
4. LEpsTl
@ .

22



47. If f: A — B is a bijective function and if n(A) = 5, then n('B) is equal to -

A 10 B 4

@ 5 e D

f: A B em @muné eniry LD[_i).QILb n(A) =5 erefe, n(B) =
@’ 10 | O ® 4
o 5 o D) 25

48.  Slope of a straight line parallel to_. "Y" axis is

49.

A © - ‘ ‘ ® 1 -

,Woo E - O -1

"y" awM@ Genemruimen CriGam_ig.en smiley
@ o | - ® 1
€ = : D -1

Find the number that ml‘Jst be subtracted from each term of the ratio 27 : 43 to make it
7:15 - |
@) 17 | | ®) 20

© 27 ° | o \(vfla

27 : 43 eranp elflz5S0lHEED agﬁqasaﬂoﬂ@gbg e cramenent sfEs T 1 15 arendlenp oAfshd

SenL_&@L
W 17 -' ®) 20
© 27 - | | D) 13

23 "ACHC/17
: [Turn over



50. The compound interest on Rs 8, 000 at 5% p.a. for 3yearsis =
(A) = Rs. 1251 , (B) * Rs. 1871
(©  Rs.1361 | - Vﬂ)' Rs. 1261

&l () eulig. @mmu.‘ﬂa) . 8,000, 3 gy am@aeie 5% Qu(mHL mn_.lq.e&’,suuuq. ﬁax_&@m QUL Ig. crma.umm?

A @ 1251 , ® . 1871
© @ 1361 | ®) @ 1261
51, Ifthe rangé of a function is a singleton set, then it is o | ,
- & constant function (B) anidentity function
(C)  abijective function - . - (D) an one-one function

S sninSen eSssald GO SamoTaTE, S5 G | |
(&)  wideds smiy _ ‘ - (B) swaflFsmiy : i
©  @oupseniy | .. D) gomse geprarsminy

52. A solid having six equal square faces is called a c
\K cube . ' i) cuboid

(C)  square _ ' ‘(D) rectangle

24m smsgmil&a)qi PERIGANTES Qsran_ e@med - ,
A)  sersgmpD " (B) seE@sdicusd
(©) F5| b _ ' ‘D) Qscseusnd

53. If p,q,r,s,.t are in A.P. then the value of P—4q+6r-4s+t is
@ 1 | ® 2 |

© s Y B

pqr,st aenLien s (B Gpm_it auflensuder @minden p—4q +6r-4s +t=
@ 1 . . ® 2
© 3 . Do

 ACHCA7 o S . 'S



54

55.

56.

In thv many years will a sum of money doubles itself at 8% SI per annum?

M 12% years _ ‘ ] (B) 13% years
(C) 14 years (D) 15 years

@@ Azmes 8% () safleul . aperpuiler QFig L I TSSMET ERTOSET @D
@) ;12% e | ® 13% g
©C 14 QU(HLBISET - (D) 15eumLtuser
A book contains 120 pages. Each page has 30 lines. How many pages will the same matter of
the book contain if every pages has 25 lines? - A
@& 175 : , B) 150
© 164 ' V& 144
geuteunm usssHaud 30 mrﬂssneﬁés QarearL. ugsasdlen Gunssl usshsar 120. oG Qauid
ga@eunm usssHaud 25 aflsams GoHsrd usSsesdar Qurssl uvssrisefen eramranflsens
ereucueTey? ‘ ' '
A 175 : B) 150

“(C) 164 o D) 144
A man white washes 96 sq.m of a compound wall in 8 days. How many sq.m will be white
washed in 18 days?

W 216sqm (B) - 218 sq.1m
(C)  198sq.m _ D) 220sq.m
@®m pBui 96 .8 ur,rDQensnm 8 prisatler GeueTtaner éu:@gm‘r crafld 18 mrisefie -‘GI’G'LIG).IGTQJ
upliuereney Qeudtener 9iigE& (1pigLib? ' '
(A) 216s.8 o ' B 218s.5
(€) 198s.8 . D) 220518

25 ‘ ACHC/17
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57. The mean of the 5 numbers is 32. If one of the numbers is excluded, then the mean is
reduced by 4. Find the excluded number .

(A) 40 : B) 44

© 52 j - \,Qf 48

5 crsmsaﬂm syafl 32. amﬁmmaserﬂm ) ﬁsgm Gurg, syrefulle 4 @mp;bgrm) ﬁs&uul_l._

CTERTENERTE STGRTE _ _ ‘
(A) ‘40 . , 4 - B) 44 -

© 52 h R D) 48

58.  The value of (%) '—388%x4°+[-i%) * is .

V& B

l.
2
1 _ . : . 1
©) 63 | . - D) -75
. ;-2 = V ’ _y ..
(i-) -3x 8% x.4°+(-i%) : —ﬂlmﬁuu
- 1 ‘ | | 1
1 . o S
© 63 L ) 75-

59. A sector contammg an angle of 180° is cut off from a cu'cle of radms 7 cm and folded into a
cone. Find the curved surface area of the cone (Take 7 = 23/)

\I‘f o . ®) 22

€ 8 - D) 66

7 ecm Qw@arcr om mt_l_g,@aﬂ@pg] 180° enww Ga;rrarrm Q&rram_ RO ULLE G.srrsmuugﬁsnu.l .
QQJL..Iq..GlLI@w DB [IREHaT garHaanss @@ sbursSanme, QM@m ENL
cuaaTUpLIGNU &raws (T = 23/)

@ 177 . _ ® 22,'
© 8 | | D) . 66

'ACHCA7 | - 2 e



- 60.

61.

62.

The sum of three numbers is 38. If the ratio of the first to the second is 1:2 a_nd that of the
second to.the third is 3:5 then the second number is ‘

@ 6 o 12

© 18 D) 24

apeTy TS atie ail@gd) 38. @ge’o. OHmID @uaim.‘_rrl.b eragmaer 1:2 erénp ffssHad 2 womd
3eug) cramaer 3:5 crenp ALHHHD QBT @yeL Teug e -

@) 6 | ®) 12

(C) 18 ' ) ' v (D) 24

How many terms of the arithmetic series 6 + 13 + 20 + 27 + ....., be taken continuously so
that their sum is 375 - ‘ .
A 8 _' ®) 12

wr 10 - | D 13

6+ 13+ 20 + 27 + ... aenp (S Ggsm_ﬁlé). 'Gl,srru'r#ﬂu_lrrs aTHFenen a.guﬁqé;ma"r Sol_lq GHTED
#Do® 375 HaLsGD. ' | o |
A 8 . o B) 12

. (C) - 10 | o M) 13

The sum of nterms of the series 8 + 88 +888 + .... is -
1 1. 8n ' - \ﬂ( 80[ » .] 8n

" : —|10" -1]——
@ Sphor-1]-3¢ S;ho" -1]-3 |

6n @) 70

8 o 81[1()"_1]__

©) [10" - 1]

8+88 +888 + ... argb AgmAed apged n e_yuua;aﬂdrv&x@gd)

8n

@ 8 [10"-1]w— | ® [10"-1 e

© -2%‘[10" -'1]-%’1 @ ;‘: o~ - 1]-

27 - o ~ ACHCN7
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| 63. The dlfference between the compound mterest and slmple interest on Rs 4,000 at 5% per
' annum for 2 years is :

\y(flo ‘o | ® %11
€ T20 : o @) ¥ 100

-

‘ @ 4000 - @um@ Q,sm@&aﬂw 5% UL aJLq.d,s Gpa)gpuﬂeo g;aﬂml_u;s@m a’m.@ g &G

@Gm._@lu meaﬁ]gﬁu.:rwm | ~ -
@ T10 - ® T
© T2 . @ Two

64. If Ramya needs ¥ 9,00, 000 after ten years, how much should she 1invest now, ina bank pays
20% simple interest '

() ©2,00,000 ' - ua( 2300000
- (C)  ¥4,00,000 » - (T ¥5 00,000 '

usgl cg,amq.m@u Yne r;u)u_meﬁ]g@ ¥ 9,00, 000 Ggmeuuu@aﬂmg el %equ.;pg 20% gaﬂau_q
2efl&@h curruaﬂuﬁla) FOWIT CTEIAIGTR) SISQNS Qegips Couan(Bin?

(A)  T2,00,000 | (B) %3,00,000
(C)  T4,00,000 ° o : (D) %5,00,000

65. Two boys can ﬁhish a work in 10 day_s when théy work together. The first boy can do it alone
in 15 days. Find in how many days will the second boy do it all by himself? .

- (A) 24days P : W 30 days
(0 32days | " (D) 40 days

@rer® é]gamsqr Geimpgy QalbCurgy @ Caumeeny 10 prsafid q,oup.nun Qe Spiasen
B ScuCamaaws safliGu 15 prsefié Qplq.,sgrrso @rem_mb ' Apeuen saCL DcCamaml
| eTggenen prsefle Aeiig quuurrrr? | e

Q) 24 prisar . | "(B) 30 pri_sar
(©  32pmiser (D) 40pnser

ACHCN7 o 28 . ' P R



66.

67.

68.

69.

If 2x +3y =13 and y== then the value of 8x® + 27y is

x
@) 693 | | & 793
© 893 | D o
2x+3y =13 wpmw ¥ =8 cafe 82° + 27y% -enodliny
T x 0 \
(A) 693. ‘ : - (B) 793 )
- (C) 893 v - ) o -
- The dlfference of the squares of two positive numbers is 84. The square of the highest
number is 25 times the smaller number Find the numbers.
@A) 1512 - W 4,10
© 11,8 i . (D) 16,4
Qrean® s creirselidn authstiseian gdwrsdp 84, Guw Gramanﬂsm a.&rresa;mrras!gj Sl
craimanfien 25 wLEAHE Fwb eTaflle) DG TaTEMmeTs HTRTS.
A) 15,12 : B 4,10
© 1,8 ' D) 16,4
101¢t Constitutional Amendment Act refers to
_ (A) Extending reservation for SC & ST
(B) National Judicial Appointment Cox_nmfssion :
(C) National Commission for BC
Goods and Services Tax
101** @irfuemnliy @@Mm &LLID QgrLityenLwig)
" (A) . SCuwpmib ST Ofeferiarar QL af&dmi Suliug
B) GCsélw fAuSadr Huiver amerTwd
(C©) Gséw GpuBSsLLLCLTTSEETaT QLeneRTLID
(D) s7é@ LYWL Coameu aufl
Who received Dinanath Mangesrkar Award 20177
(A)  Sankha Ghosh , ‘ (B) Kasirathuni Vishwanath
@ Aamir Khan D) Kailash Satyarthi -
2017-ib &g pHarear Senpns wiGsdysT efmg QUDDS WNT? .
(A) - smsrGsmay ®B) srflyrgef efedveunns
©) subiramen ’ : D) osoney ssuUTTESH
29 - ACHCN7
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70.  The Umon Cabinet approved the New National Health Pohcy on

(A) April 15, 2017 ®B) June 15, 2017
\pf March 15, 2017 ' . (D) May 15, 2017
wHHL BevwEFT@al ey ydu Cgdwu ve_ll..da‘r_r,a)' !/ qcmmﬂu.l Q&rreitmsé@
PULISS JAfSHS. _ ) o o T
@)  glye 15,2017 ~(B) g9an 15,2017

© wmi#15,2017 : D) Gw15, 2017

71.  What is the meaning ofa stnpe in our National Currency symbol 3?7
VY  Equality B (®B) - Faith
. (C) Truth o : (D) Chivalry

B Caéwr prewrusSlen a;m_u.srresr,sﬁan e G aumb Ga;m_u}p(g Gl,.ur@ar wigy !'?
(A) smpgsuu) N : - (B)  pib9&ma
©) ecameaw . , (D) &g

72.  Which among the followmg goods is exempted from G.S.T.?
(A) Milk powder o W Newspapers
©) Fertlhzere : o D) Tea

EpacirioupHied Thg au&élgp@ GIJ'&;@ LHHD Gsaneu aufl aﬁla)a;@ aaﬂmuut._@mcrg?
(A)  uré ueyLi Co- B). QauBsgreraer
© emb | D Cshee

B 73.  The year of inception of NEET for admission to undergraduate and postgraduate med1ca1
and dental courses is :

(A) 2015 : B B). 2016

© 2011 | P 2010

Qorplene, pgyflene, @S Lqu.I_IL| LHEILD uwm@ggsu utq.utﬁlmsrrsn NEET e;tq.ul_mm_uSIc.mrslsr
Ceirsens Q@msiL_ L cg,tsuur@

@A) 2015 - h B) 2016
© 2011 D) 2010

ACHCN7 B | 30 | A ¢



74.  Asia’s largest optical telescope is situated in
A) Kavaiur in Tamilnadu' |
(B) Hanle in Ladakh
M Devasthal near Ninital
(D)  Indore in Madbya Pradesh -

%@u_lrreﬁ]c&} Ws0 Quilu gaflllud srips QsreraChrsd Smwpgerer @D
@) sraignt, SOZETG | .
B) avreGe, wLTé |

(C) Cseusvge, anpafimed a@éﬂd.;

© @b osBun ArGesd>

75.  Super computer jointly developed by IIT- Guwahati and C-DAC is named as
(A) PARAM PADMA CL ~(B) PARAM 10000
\J#” PARAM ISHAN ' (D) PARAM YUVA

B8Ry Qsaarsgd wHpb &-o1é (C-DAC) Beoapg 2 meunsdu WBGHper seiaf (Super

computer)ufen Quwir
(A)  umb ugor : _ (B) umb 10000
©  upb Gevrer D umb e

76.  North Korea tested its first intercontinental ballistic missile on
" (A)  August 4, 2017 | o July 4, 2017
(C) July 4, 2016 _ (D) June 14, 2017

auL Qasmiwr Sigar (ps® seTLLb ALH S@HTLLD UMy T SR Cengenen Qelg prreT
(A)  apsevi 4,2017 . ® gY%w4, 2017
© mO@w4, 2016 | (D) gOen 14, 2017

* B 31 . BR ACHC17
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77.

78

79.

C) g -9 D) é&nL—iQ v

What is Nabanna March?

(A) March of communist party of India to Nabanna to resust Trmamool Government in
West Bengal ’ '

W March of left and BJP to resist to Trinamool Government in West Bengal

© A march to State Secretanat in West Bengal
(D) March of Trinamool Congress Party

pueemT ;sam_uutumnb crcirr,r_r)rré Gl'Q'ﬂ;Gﬂ?

A) Cupe eunsusrra'r§$a> Sflarmaped ameﬂ,m@ Gr@mra; &mgaﬁw sC ,l_r,l_gﬁ‘u pml_uuummo
B) Gmgp@, SUBISTET ﬁtﬂsmrr@a) aqma: T fliés @L_g&mﬂs@m BJP-i> ml_ﬁﬂll.l pam._uu UJERTLD
(C) Cupe anarm sirflé samoews Qsuass®s G;r,rrs@uJ gbml_uuu.udmm

D) Afemrrapa &rrrmés]n;rcm s pml_uummrm

Whlch one of the following commumcatlon sabe]lltes was inducted into the INSAT/G SAT
system on June 29, 2017? '

®) GSAT-18 . _ Vn( G SAT-17
© GSAT-9 (D) GSAT-19

ﬁl‘ps@'n_m,r_i)gdr apg QsrerewsQsm_iy Qéu.r;bm&és@érrd‘r. grar 29, 2017 & INSAT/G SAT

Gpmirauflwsddimbg elarefio qauliucLg?

Q) o -18 : B)  Gem 17

USA recently withdrew from ——=—— agreement.

(A) London nuclear . . \M Paris climate

(C) Genevapeace = = "~ (D) Rome nuclear
abugHD HQwhssT » guugsgggoa@ﬁg Rodwg).

A eiTL Gt S - . B) unflev EGsreyemBlere

© - Ggaﬂmnammﬁ ‘ : D) Comb sigm

- ACHCNT 32 | T B



80.

81.

- 82.

Sagar vani is the name of ‘

Mobile application launched by Government of India for ocean related information
(B) Television program initiated by Government of India for ocean related information
(C)  Nuclear submarine launched by Government of India '

(D) Mobile application launched by Government of India for disseminating earth quake
parameters -

“enait curenfl” ad‘rm Quuwigreng

A)  @bdu airs Qauafdl L QuEphis_d enipg clauris@ssstar aCuE Qewa

B) @rfu s oS QU@réum_ab &nipg efleurtisErsstar AgnamawsaT f fapss
©) @psu 278 Gauefi L sigmisadl Sreppd

D) @pﬁu_l 2ir& QeuafludiL ;ﬂsop@a;&m GPES siemeymEser Qamam m&@ué] G]su_lsﬁl

_ The draft new. National Forest Policy was published by Indian Institute of Forest

. Management in the year

@ 2014 - v& 2016

€ 2017 | = | D) 2013

@pﬁm arpser Guemearrento ;Elgnmarggrrw @pdurefen L;Qu_n euenTey Ggeﬂu_u a;rr@emr Gla;nsrra)a;
T YA TT- O [T S ICHENE

(4) 2014 | - ® 2016

(© 2017 . (D) 2013

UN declares 2017 as the International year of
(A) Conservation of natural resources

‘ (B) Peace and friendship

(C)  Protection of natural heritage
w Sustainable tourism for development

< fe e s BIR&ET enwoliy 2017—1b gyeRrerL Hirerudsg ereng).

- A Qupes aasms LTHETEGDL Y@L TE
~(B)  swrstanepb ACKAsub QST Gy TS

©) Quimsie QumLOW UTESTEGD DLeRTL T8 -

D)  spmer vivergar HrbsToner cuaiéféaTar &1

33 | " ACHCN7
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83.  Which one of the following is not correctly. matched?

(A) Sadja
(B) Rishabha
(©) | Gandhgra

' \M Madhyama

-

(A) sgewr
®). . Aavur
©  spgmr.

(D)  wmEww,

Sa

. Ri

Ga
Pa

: Gén@é&sﬁxui.u_a)m&éﬂd) Thg Genp sMwns OQW@@@@;@? N

&
f
&

L

84.  Consider the following statements

Assértion (A) The notion of hierarchy was present and all poﬁverfi_il in regulating
‘ human conduct in every minute aspect of life.
Reason ® A basic aspect of traditional society in India wg’s' the principle'- of
: hi'erarchy. ' | '
4) (A)is true (B) (A)is false
W Both (A) and (R) are true (D) Both (A) and (Ryare false

Geaumd eunsdwnisamans seueah

e.pduiner Qam A :

sryemw (R)

@ @eh

© Auww, (R) -1b &f

ACHCNT

GmssaTLE QOHss. g eumpeian her ﬂm@glb maﬂgaﬂe&r
PLE@EPU GURELOSHSD Bsad o amigsns Gbss.

BiHuwrelier G wry urmduil sepasHen iU LTS @@M@-

C® (A sfude
D) (A) b, R) -b sAwd

34 K3



- 85.

86.

Arrange the following Azhvars according to the chronological order

I Poyekai Azhvar
II. Periyazhvar |
M. Andal |
IV. Thirumangai Azhvar
O LILIV,II ® ILLIV,I
W LILILIV (@ IVILILI

STOPEDLILIG ThS gppeuriaer (penGaranfluicuiser eramniams auflersluBisseyd -

I
IL.

IIL

IV.

@
©

Qumbens ppeumT

Quiflwmpeurt
.c%é&u'n_rre'rr
H(moiiens et
LIIL IV, II ’ B IIILIV,II

LIL I, IV MOy IV,ILII 1

The process through which culture influences a social system is called

W Institutionalisation

©)
(D)

Modernization

Socialization

Popularization

FONESTID @ pepuden el Fps Siewotionu Qedaursd Gups Qe flpg) eeTLmS

@
®)

©
®

peSamoul mng,éi)
Blmeuenonge
SEPEDWIOTHD

WreU(HLD SiflubLIg Gsu_:g,a)

35 . ACHCN17
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87. “Shathram Sareeraprashtharam means
M Koil is built like human body
(B) Bridgeis built like human body
(C) Pillar is built like human body
(D) Statue is built like human body "

“GanggHimb sfyLnSgevsnid” carugen SiiGsid

(A) maﬁlp%gvmt_u.n 2 by Gumred Carefiled 51'_1_L'1'uL"®drarg|
(B) wvefisguerw e by Cunréd ured 5E.LL'1ULG&T«T§|
© wvalgguenw eLiby Cumre grewr &LLDUC Béreng

D) veiggeaw o Liby Curd Haw 5t_|_|_||_u_.®armg| -

| 88. Mabch List Ivnth Lmt II and select correct answer usmg the code glven below

ListI List IT
(@) Thiruvarur L Ganatheetcharam‘
(b) Madurai 2.  Thiruthali
(¢ Thiruppathur 3. - Aalavai
-(d) Thiruchengattangudi 4 Poong Koil
(@ () © (@
-4 3 2 1
®: 3 4 1 -2
© 2 3 4 1
® 1 2 3 4
uCgwe I o Lén U g e II-au Oun@gﬁ &Cip o rar QzrEUSdimbs) 8rﬂu.|mm Gﬁﬂmuﬁlmm Qzay
Oeru.na;
L iguie I '  utguwe IT
() Hmeurgyi 1. | sewufésgd ”
) wger 2. Hmssef . R
© Hmuuggn 3. SO
@) BEpslssm igy 4. yYuCsmde
@ O @ @
A4 4 -3 2 1
®B) 3 4 1 2
© 2 3 4 1
S M1 2 3 4

ACHCNT. - 36 | e



God is referred to “He”, “She”, “Ig” in - — . school of Saivisr;l.

(A)  Sivadvaita | . W Saiva-Siddhanta

(©) Trika (D) Pratyabhijna

Remeueman “ieue, “ieuer’, “a@ eTemy @gﬁ]uxﬁ]@tn angeu soWUG ey ; : ;%@Lb'.
Q) SAangmaugd o B esaflgsipsd

(C) Hfler I D) Qygwumlesr

Virasaivism is also called as
(A) Sivadvaita : (B) Kashmira Saivism
VI_.;ingayata ' (D) Saiva-Siddhanta

sifasad Gaiarpb SmpssIL@LD
A) Sarsemasbd (B) sneagSyensauld
(C) @dmsTwgd - - D) . erscflgzpsn

According to Vlrasalwsm eight rules that are the aids to the path of moksa for the soul is
known as

(A) Bhasya. | W Astavarana
(C) Astangamarga . : (D) Astangikamarga -

aigengau &mtugﬁcu o ullir @&Quml_mgmmrm &G 2 Faus Fnig Gﬂ.@ Qﬁlﬁ&m
CTEN BHEDLPESL u@u)

(A)  umeigwb ‘ o ) (B) ggqsiqn_rrmudﬁnh

(O sy mRISSTTESD (D) DL mhHswTTESD

" Srikantha accepts in o | ‘
(A) . Asatkarya-vada L (B) Brahma-parinama-vada

(C) Vivarta-vada , ' \M Satkarya-vada
WBEBST hmé Qameteug)
Q) - sssamivanssens : . (B) Grbwularmwarssms
©) Aarssaungsans D) sgarflwearggens
37 ' ACHC/17
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93.  The Official Secret Act was passed in India in .
@) 1921 (B) 1922
1923 T D 1924
@pﬁu_m%ﬁ]m 2 gHCwirs rya;eﬂu_l &b @u.l,m,rpuun_:_ S ETH?
@& 1921 C(B) 1922
) 1923 V ‘ o - (D) 1924

94.  The term ‘accountable’ came into .ilsage in the *languag’e of
» English ‘ , (B) French
(C) Latin. _ ' o (D) - Spanish
“Gurr@uurf.r_af’ eTeD QUNTEENS LILieun g H@ aups Quomy . o
@ gubon | B) 9Aree
©€C) osdlen (D) evurafiev

95. Consider the fo]lowmg relating to Ethics. :
I.  If wealth is lost, nothing is lost. If Health is lost somethmg 18 1ost
II.  If character is lost, everythmg is lost. '

(A) Onlylis true - % Only I is true
(O) Onlylisfalse © (D) OnlyIlis false

<ip @uent e AsmiyeLw ECip Gsn@é&ﬁuL@mw®§& HHSIS. .
I Qedeub @pasiLLe, gmrym @ty @a)a»e) 2L e eg,(%urrasa%lu_lpmﬁ @mpgrroa é]a)m,r_r)mm

Bp&HCpmb.
1L pusssas Qubste, Gré)a)ﬁeng')snmu.u.b QusSlGpmbd. .
A) T o0 @b s | "B) 1wl @ob s

© T wipbsay S D) Tolposep

, 96. “We ought to do an action” means- ' .
We should do it (B) We should not do it -
© We may do it A D) We may not do it

“e@m Qeu.ma) Ut esawnq.uurra;s Qe CouamBLd” eremuge amgg;u) : :
A) g prd QaLCS 6 Caiadm®n  (B) - i prid Qaiiug Ggmmlﬁla)a)m

©) iewgpmd Qeiwemnd D)  <iews Hmbd Qe iwumoed Gurrgmrru: :

ACHCMT . . . T | e



98.

is of the nature of ‘ oﬁght”, and not of the nature of “must”.

w Moral obligation

®B)

©
D)

({4

Moral Good
Moral Right
Moral Virtue

PupemsursGea: Qs Cauam@on aamty, siLmub Qealw Gauarhb aarug

DS QUDDES SO S .

@
®
(C)
D)

PUPEEE S_®WL
BOEMIPESHD
Beve 2 Menwo

R(P&EESE Qanérens

Which of the following is/are incorrect?

I
IL

L
IV.

Vel

©

"Medical profession is not to render service to poor

The patient has right to choose his or her physician

~ The physician also has right to choose whom he or she will serve

Many patién’ts want medical costs put on prepayment or insurance basis

I only : (B) II and III only

i1 and IV only - | . (@ IVonly

- 8 @,I{)lulﬂu_ma.lscfﬁm geuprarupEns GOLOEs.

L

IL.
IIL
Iv.

@

©

FTOWPE@HEG HESGIeuSHImD Gaancu Gl&u.lmﬁa)maa
Grruned sargyeLw mpsgieumy Gaibdsdss e faw e.arh
25ICLT® WEmEHUTHEEED sag Corureiaw CaibdsREs 2w g

Lo Cerurelsdr gang LHEGM Gswmar e LEMOTECAUT JOQF Bl FH GUUBSD

apeGor Qegiss eflmbydprirae.
Iol@d B®) I wpgb I v @i
III wHmbd IV v Gb D) IVulew

39 | ACHC/N7T
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99. How many antmodes must be there between two nodes? T

N7 B! ‘ - o ® oz ,"A:_-‘w{

© 3 o L D) 4

Qe ® s@EEERSADLCL arhgman afismyéseT BméE0w? .
@a 1 .B) 2 T
o 3 ' D) 4

100. A copper wire has a resistance R. On doubling its length, the specific fesi_stance will
" (A)  be halved o (B) be doubled
(C)  become four times ‘y -remain the same

T gsmﬂ 3 molSluS}aT Lﬁlangam R. Sipen Bemd G)m DL BIETESL] u@m@ung,; agan uﬂmgsam* eTeRT

A) U"@ DBGBO , - B) @@ wLhsrgd
(C)  préng wLhisTED ' (D) l.DerlL.II_,.ITg",
101. Why tungteh is used in Bulbs? - - : ' T
(A)  Natural Source of Light . (B) EasytoBend
\y Melting point is high D) It absorbs heat

GIp eﬂm&@a;aﬂe) LIBGOL_6T Greh uu.zaru@ggsuu@eﬁpgj? :
(A Qubes gafl apad - B) Graﬂﬁm uMeTES (ympqua
©) ecppfowsfed - _ D) @g Qeuuugang &@@&w gmwuml..wg}

© 102. Colours of thin film is because of the phenomena of . -
(A) diffraction of light " ' - ® refractmn of light -
: y’ interference of light - - D) pOlansatlon of light .

Sireu Quoe upmde Carenpb HDhSE5HET6N g (LI & STTewTD
(A gefl flefiby dleamerey B) gl Ao
©) gl Gps8L@ Samaray 4 (I/))' e sar aflenarey ,

ACHC/7 - 40 S



103. Which of the following is/are corect?

I

I
HI.

(A)
©

Conjugate acid of NH, is NH; -,
Conjugate base of HN; is N;
HCOj can act both Bronsted acid and Bronsted base

TandIl -\ MandII

Tand III : (D) I, I and III

Genaumeuameupmyer sfwirers Grg[srd)m?

L

I

L

@) |

©

104. ‘Match the compounds vﬁth corfect oxidation number of the underlined 3

(a)
(b)
©
GV

A)

©)
D)

Caorisae i3 CEM L L SIgmIssmaT, Si5en sARCEDD s EsL e AUIBSES :

(@
(b)
(o)
(D)

A
B)
©
(D)

' NH, ér @evam siflon NH;

HN; e Gevenr smyb N
HCOj3, Qyrenev L iflewrseyd Cymeev L srjworseyb GewduBind

I wpmib 11 | ®) I wpmb I
I wopgip 1T - @) 1,1 wpg I

Compounds , - Oxidation number
Cr©O:Clz 1. +7 '
MnOs3Cl 2. +2
N H: OH . 8. . -1
OF: 4.  +6
@ ® © @

4 1 2 3

4 1 3 2

1 3 2 4

2 4 1 3

CaToiiger Y g@mgbg) eTeRT
Cr 02 Clz 1 +.7 :
" Mn O3 Cl1 2 +2
N H: OH - 3. -1
QF: 4. +6
(a) (b) (©) (d)
4 1 2 3
4 1 3 2
-1 3 2 4
-2 4 1. 3.
41
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105. KCIOs, being an ox1dlsmg agent, during reaction, converts to KC], where the ox1datlon

number of ‘CI’ decreases from — to . o .
(A) +3to-1 ; ,M+_5tc—1' o : ” . .
(C) +1to-1 : : (D) +4to-1 S |

Qb&a&acmmgn wpsarrer KC10s, Caugluiwa sﬁlmaﬂ wrHnsHen Gurrg KCl a8 6&1@&19@ a@m

‘Cl’ ywefuben 2 salgCarpp Hene ————— dlmhg ————— 248 @@mﬁm@
(A +3to-1 B) +5to—1

©- +1lto-1 | | (D) +4to-1

106. The.hardnéss of water is estimatated by using ‘

: \A Chelating Agent ' (B) Oxidising Agent
(C) Reducing Agent ‘ . (D) Neutralising Agent - .
geamentfie) o_drar Hig. e gsérrmmmuJ el uweTLIRILD asr;aﬁﬂ —_— .
(A Qsrpsdenertiily srenfl B) sallgCarmm syenfl V
©) @@é@b Siyemf) . D) pEfoowrEGD syl

107. Consider the following statement and choose the correct (;ombinatiori :
@) Mycorrhizae help in phosphorus mobilization
@) Al the plants are associated with Mycorrhlzae

M (i) is correct and (ii) is wrong (B) (i) is wrong and (ii) is d’orrect
(C) both @ and (ii) are wrong - . (D) both (@) and (ii) are correct

- Spser aursduismen seuell LHEID FMwirer Qu rr@§,5§é)§ Caips®-:
@) UTedLITED Sy TRSEEEE HaLss mwsGaramrsisser o saudamng -
(ii) sré)a:q sraurisefen Coaurseafld a)mécasﬁa)u&u gt (B uUNDEDS g;l_gg&é@g
@) @) o (D) pougy o ® O sy G e
© O wmgxm (i1) ;ssugu § D O wopgiod (i) &

7
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108. Match the following and choose the correct option :

109.

110.

(a) Robert Hooke 1. RBC and Yeast cell -
(b) Robert Brown " 2. Cell theory
(¢) Leeuwenhoek 3. Discovery of cell
(d) Schleiden 4. Discovery of nucleus -
(a) (b) (c) GV
@A) 1 2. 3 4
w2 3 4 1 2

© 2 3 4 1
® 3 4 z 1

&Gy srULC Leausamer QuUIGES, sflurer e muig CoibOS0 :

(a) prufl apos 1. SHauiLigy wHDHb uTevl GFed
(b) grurC iFeyer 2 Qae Hwifl '
(¢) -SSeucnancs 3. Qe saTB gLy
(d) evdef e 4 PAuysafluieh ser®idiy Ly
@ ® @ @
@A 1 2 3 4
B 3 4 1 2
) 2 3 4 1
3 4 2 1 ‘

(D)

Idénti.fy the most suitable biofertilizer for casuarina cultivation
(A) Rhizobium \J¥” Frankia
(C) Azolla . _ : (D) Azospirillum

Epsam_aubdmdT 5615E 07 eueTTULEE sfurer peraudi 2.7b erg?
A)  erGsmAud - B) YGyrkdwur .
C) =Csraor D) CamevenLimedeIDd

Colostrum is rich in which class of these antibodies?

7 IgA o ®) IgE

© IG - D) IgM

Sbunaller a5 euans sré]ﬁ@urr@[.a;si'r 2ifsons srarriuBAdmen?
@) IgA -  ® IE
© IgG - D) IgM

43 - ACHC/N17
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li_l. Which one of the following is corr;ctls' matx.:hed?
(A)  Kanha National Park — Orissa |
. B -Kazirang;al Naﬁonal‘ Park - Kerala .
| ©) '- Bai;dipur National Park - Manipur
\E{ .Rantha-mbo;e National P.ark — Rajasthan

LfﬂG_%TG\.I-@QJGlTQ}!j)gGiT crg;-gﬁlmrfas Qun@;ﬁﬂudfmg?
(A) sargnr Caflwl Qrfu&rt— gflevevr |

(B) a;mﬂqn's:&fr' GCaHlwiL gxﬁiAaq - G@r;a'n.b -
© urreif%fr Ggé\u_lu LpBIST — m@ﬂﬁ:gr‘r

D)  grenrpnCumit GsHlwL gr.r';m‘rr - ungdog&dn

112. The small central part of a hurricane known as the “eye” is a region of

\w/ calm and clear sky

(B) very strong winds
(C) torrential rain

D) low temperaturé

~‘geg T amgg&a;uu@u) gm:ﬂ@saﬂm Afiws enwowits ugH @Wsug
© (A aqam.oﬁ wHpo Ageflerer curamnd 2 e wig)
(B) . &lﬁ(ﬁm& a;ng')a)m 2 L WS
© Ssofs vyl Qunfemea Qaneim_g

D) @opps Aauliugms gml.l.ﬁg:

ACHCNT -. Ca



113, Northwestern Kalbai‘sahi oceurs in the Indian states of - -
(A) West Bengal and Odisha
®) | ~Andhra Pradesh and Tamil Nadu
' \‘(Ef Assam and West Bengal
(D) Bihar and Odisha

o G sdumiied gpLGH @ifu vrhlense
V Ad) Cuia a;lréla;rr'mb DD @q;rr -
(B) - @by GrCped wHpd ﬁtﬂ&bpﬂé
(O i oppid Che aukETaTD

D) Sami LHMD GlqFT

114.  The outer mosi: ring of the Von-Thunen’s Agﬁcultufal land use model denotes ‘
' - (A) Three tied system | %

(B)‘ Crop farming with fallow

| W Live stock fafming |

(D) Fire wood production and lumberiné

m.rrdrgmsofich Geuerragr Heovuwisrur’ @ wrdfuder Qeuefleu’ Lib @gHluug)
A) - gpuuleL Ceuerenr penm

B) sfs ;ﬁé);isgu;dr Souig ) LIS LiGRTenemT

©) &rrd)lr_r;'a)p_ LI GBoT &9 &t o

@) * AnE 2 Huss wpmd wyb Qe Gz

[ 3
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© 115. The National Institute of Hydrology is located at

W Roorkee

(C)  Lucknow

(B) Dhanbad
(D) New Dellu_

, G’g;é]uJ ;Brﬂtueo am)eﬁ] Bleneowid a{mmpgmm @l_l.o

D) wies
(©) @&Canr -

B) srewns
(D) By, Qéed

‘116, Match List-I with Llst II Correctly and select your answer usmg the codes given below :

List-I (River)
(a) . Cauvery
(b) - Sharavati

(¢) Narmada

(d)  Mandovi
Codes :
(a) () ©
A 3 2
®B) 2 ]
s 1
- D)y 4 3

[ L

R

(d

I N

Lmt IT (Waterfalls)
dog
Dudhsagar

Siva Samudram
- Marble

Ll iquidd-Igg uCiqwé-II e ar QuImsS &(359 Qasrr@ssuuu_@errm @;ﬁ]uﬁ@)&mm Ga;newr@ Fflwmen

eflen_anws GoipdsHEs.
Ul iguie-T (um)

(a) &rGeufl

(b) eggreudl

(© piwes

(d) wrarCLre
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117.

118.

Which amohg the following is/are not correct -about Sir Syed Ahmed Khan.

I. An ardent patriot and Nationalist
II. - He did not support the Ilbert Bill
III. He held that Hindus and Muslims are two eyes of India

IV. He started the united India Patriot Association

(8 LIllandIIl | B Ilonly
(©) IVonly . (D) 1L I and IV

\Getreu(mLo em,rpgn&aﬂm & LG SIS0 STe GPHSS SeuDTAT QT @qa)eugj pamsE CopulL

aunsdutiseer GHuIG apab Caiay Gaws.

I - yraudss pm__@uu,mg b CeeliuppenLweurt

II.  @eéum Gsngrena c%gr\‘l‘m;e;ﬁ]51)«11%1)

III. @bgéasEsw, Q,oausﬁma;@w @;_r,ﬁu.:rraﬂsm @chr@ SETEET GO
IV. géflu@bHu pri® shspms geusdenmi

@A) I, 1II wpg ITI . ®) Hwl@bd
) IVwl@ew , - (D) II, III wpge IV

Give the correct chronological order :
1. Gandhi-Irwin pact

2 Bengal Division \

3. Surat Split
4

Simon Commission

\(ﬂf 23,4, 1 | ® 31,24

© 3214 o D 1,342

SALITET &Te) B L UeRTEn S(HS :

1 ampd-@iredar @Lupshd

2. aursmeTy) 9fefanan
3.  @vsdarey
4. 'cngmsiﬂ W
@ 2341 | . ® 31,24
(C) 3’ 2: Iy 4 V (D) ‘1: 3) 4| 2
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119. Wh1ch one of the followmg chronologlcal sequence is correct?
\M Swadeshi Movement, Home Rule League, Simon Commission, Indnm National Army
B) Home Rule League, Swadeshi Movement, Simon Commlssmn Indian National Army -
(C) Swadeshi Movement, Home Rule League, Ind1an National Army, Simon Commission
(D) Swadeshl Movement, Slmon Commission, Home Rule League Indlan National Army

Yerai(mLd Ggm_rra;qﬁa) sflwren aneeufleng Agrir erg? |

A)  5Czf Quiss, genamm_§ SHISLD, em;u)ar & @p@u Ggseﬂu.: @gn@mm

(B). sénant A sts, &Gz @u_lu;u) @a0aT &, @b Cew Qurgniad |
(C) 5038 Guiaid, garsarn_eﬁ ahsd, QEBu CsAu Graieid, mswndr & -

D) &Csf @u.l&asu) WDELDET G, gasrarmuﬁ SHISLD, @g@w Cadlwi @urr@mm

120. Match A w1th B and choose the correct answer from the.codes given below 2
A - . B |

-(a) - Fazari movement 1. Karam Shah
(b) Wahabi movement 2. Shariatullah
(¢) Pagal Pandi movement 3.  Bhagat Jawahar Mal
(d Kuka movement 4. Sayid Ahmed

@ ® © @@

@A _ 4 2 3 1.
2 4 1 -3
(C) 3 1 4 2
(D) 1 3 2 4
DL Lcuenent A-euL_m Bag Gurr@g@ &Cyp Gla;rr@es&uuu_@mm @ﬂﬁ@&ﬂﬂeﬂ@y mﬂu.mar efler_enws
Ggitey Qes - ,
| A, B
“(@)  Susf Quisso ’ &I g
(b) eurgom9 Gussd agrRwggden

(© ursd upd Qs
d) ©srTQuésnd

UES REUSIT L06) -

N

WEWG NSO

@ ® © @
A) :

4 2 3 1
‘B) 2 4 1 3
© 3 1 4 2

1 3 2 . 4

D)

ACHCNT . » s . o .



121.  Find the odd one out :
(A) Lalithangura Pallaveswar —  Trichirappalli

(B) - Naravaraha Avatar —  Udayagiri
(C) Govartana Girinathar ~ - '— = Mamallapuram’
y Vadabhadrasai Gopura —~  Srivilliputtur

| vﬁﬂiﬂ[&g BUGLD @D DL WLITETLD SHTERT

A) odsmgr udaGaisveurt - . Amaslgriueratl .
(B)  preuman Siassmyd - epudf |

(C) CGananggen Hfpogi — oML TD

D)  arugremd Gamymbd - Bauddlysgni

3

12'2. Match List I w‘ith\List II of the following and choose the correct answer from the codes given

below :
List I - List II
(a) Battle of Toppur 1. 1601 A.D.
(b) Battle of Vellore 2. 1532 A.D.
(c) Battle of Uttiramerur 3. 1604 A.D.
.(d) Battle of Tamiraparani - 4, 1616 A.D.

@ O © )

@ 1 2 3 4

- ® 3 4 2 1
© 3 4 1 2
3 2

yzz

utgwe I g ulgwe II - ey er Qurmsgs. sflwrer efleneow GarRiési L @ﬂ)]uﬁ@&aﬂqﬂ@ﬁgj

Cgirey Q&uwis :
L guie I S quu_lé) i
(@ GsmiyrGumr 1. &.49.1601
®) Ceugni Guimit 2. £.19.1532
(© 2587Cwoai Gumi 3. £.9.1604
d) srdyugesil Gumi 4. £.19.1616
(a) b  (© (d
@A) 1 2 3 4
B) 3 4 2 .1
©C 3 4 1 2
D 4 3 1 2
'S o : 49 ACHC/17
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123. Wthh of the followmg statement is not correct"

I
IL

IIIL. .

Iv.

g%y
(©

The company’s trade monopoly with India was abolished by the Charter Act of 18 13.

The Christian Missionaries were allowed to come to. Indla after seekmg permission of
the Government by the Charter Act of 1813.

As per the charter Act of 1833 the British C1t1zen were permltted to purchase land in
India. .

The system of competmve examination was mtroduced for the cxvxl semces by the
Charter Act of 1833. ' : :

. ® I

mo Y\

’ &G’gg Qasrr@sauul_®e1wr mrresaﬁwrma;aﬂm org #flwipHmg?

I

II.

I1I.

IV,

(A
©

18131 - y@r(® UL WE SLD @‘mﬁwnml_mrrm sm@uaﬂuﬁla amasﬂs (y);pgxrﬂa)w‘ |
SastulL g

18131 QY@T(H UL WiF FLL LD, aueﬂx_l.ﬁl@pg Sigiwd Qupmy &rﬂao;a.l ADWIL uuuurrmrw;m '

BpHureise ey a@iwﬁﬂsﬁﬂ \

1833 yaw@® ulLwE slLb @@ﬁuneﬁ]a) ;f,la)m QUG &ﬁutq,q @Lq.mm&@&@
Sigivueiisss. .
1833 gpam(h UL wé 8’I_L_§§ITG\) Hefléd girellevésmen Gum_tq.g ngsq me;pa)m D psd
Qelwtiig Lg.

I | - ® I
m | | D) IV

124. Find the odd one out

@A)
®)
©)

A. Subbarayalu Reddiyar -

'Panagal Raja

B. Subbarayan

y M.A. Muthiah Chettiar

&gp&nmummymﬁaﬂgg ;ﬁm@mg)anmgp s&r (B : B I
A . &uuqrru_lgu Gm_tq.qurrr ' I
B) uese yyaT '
©) Q. stugrwer
D) eb.g. @sswr Qe gt
ACHCN7 50 o e



125.- Match List I with List I and chopse' the correct answer from the codes given below

@)
(b
©
L@

| A
“g;f

©

List I
Narayanaguru
Vaikunta samy

Swami Dayananda

Jyotibai Phule
- (a) (b) ()
3 4 1
3 -2
1 3 4
2 4 1

)

W N =N

(d

"List IT

Pune .
‘Jankara _.

Kénniyakumari :

Aruvipuram

Qar®ésiu Gerar Ut g we I ur g 1T 2 e QuImES, sfurer AeLou GHGsNS Qnbs
CaipAs® | “

uigured

(@)
(b)
©

(@

@
®
©)

BTTLIERT &
meL@Hs sl
saumll SuITTHST

Cgrdumis yGe -

@: ® (©

3 4
4 3.
1 3
2 4

I - T I

Gy

w N = N

uguwed IT

Ljeorm

- gsin&rriyrr

senaflwm@Lof

2i(mellL o

51 | R ACHCN7
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126. Find thé. odd one out
L. Chipko struggle :
II.  Sastra Sahitya ?arishad .
III.  Narmada Bachao: Andolan
Iv. Sémpoorna Kranti _ _
(4) IandH only . (® I, andIonly
(©) 1Iand IV only S yIVbnly :

&Qéand&hm@ p')crggvsir QurmHSTS éémmm IS
L 5]&(35( Gumpr_Lib |
IL  srevggn sr8EAL LRays
IIL (r_r;r'rmgrr LEGer bCaTae
IV, sbyier Syrhd |
@ Topgn 1ol Go L ® LI opgo I 6o
© I mmmwmr_@m D) NVoes '

127. Whois called as the “Father of modern P"un;abi literature”? -
() 1C.Nenda : |
B) J aswant Singh Kanwal ‘.
M'r Bhai Vir Singh
D) Mohap Singh

pefer Lighsm) QasdugSer spams erey a;éug;éssuugqmﬁ wimir?
A g8 ppsn o | |

- B)  meveuer ik seneund

©  umi it A
D) Cuonscr Hirs

ACHCN7 S 52,



128. Match the following : _ ]
(a) Committee on Financial Sector Reforms S.D. Tendulkar
(b) Committee on Financial Inclusion Raghuram Rajan

1
2.

(¢) Direét Taxes Enquiry Committee ' 3. C. Rangarajan
4

(d) Methodology for Estimation of Poverty Wanchoo
@ O © (d) ’ .
(A -1 3 -2 4 '
7 2 3 4 1
- (C) 3 4 1 2
D) 4 2 3 1
- Sipasearr_cuperpll GUTMHSSIS :

(a) Posgemn EFrHmsssE GW 1. = S.D. QLewm@éast
(b) PP ecran_s&ss G 2. . g@yTD prggen
(© Curg cufiger efleryeaments G 3. C. IS TEQEHT
d) eupenr LHUSLH en 4. QUITEH S,

@ (O © @

@ 1 3 2 4
® 2 3 4 1
“(©) 3 4 1 2
D) 4 2 3 1

129. The Gross Capital Formation (GCF) in agriculture and allied sectors of India during
2010-11 was ' | - ‘

(A)  9.7% of GDP

(B) 13.5% of GDP

(©)  16.1% of GDP .
W . 20.1% of GDP, 18.5% of GDP

@ﬁﬁumﬁo’a 2010-11-1b yewriged Geuemme LDﬁ)Qlib-EITfl“ﬂ";§ gimpaatied errgg apga péaGHlen
Slerey , - _ '
(A Qurss o ampm @ e pusSuiia 9.7%
(B)  Qungs e i@ 2 HusHd 13.5%
(©) Qursseapr@®epusdio1671%
®) Qurgs e dmp (e HugHuie 20.1%, 18.5%

. o | 58 ' | ACHC/17
| ' [Turn over



130.

131.

132.

‘Which of the followmg isnot a method of calculatmg Natlonal Income? -
'(A) Income method c M Saving method
(C) Expenditure method | (D) Product method = .

B cumLraE®S SamsH{HL PODEHEHT GETDTE @éhm@mw@;i)gé'r THE G Qdme?
(A)  augworer pop | . (B . Cafuypep |
© Gsaq pop | (D) 2pLsH eenp

Which one of the following public sector undertaking is not mcluded in the nine unit
Navaratna organised by Government of India? '

‘4 ONGC L B NTC
(© BHEL v MHMT :

-

Qpdu - s . Q.IEQI‘BJQUJ paquswrr eTenm §@£mwu Qupng Gun'gp gmm gﬂgmmm
Epsanamuemeuseficr Grgj?

(A)ZONGC B ® NTC
(© BHEL  ®© HMT

The sec_ond _stﬁge of demographic ‘traf;sition is characterised by

(A)  High birth rate and high death rate |
‘ﬂ( Hiéh birth rate and fal].ing death rate

(C) Low birth rate and low death rate

(D)  Low birth rate and high death rate

ma;a;ar@gnma; wrr;p;og.,ﬁar Qram_reug ;Elmar &gps&am_ oTHS @u.;a)q o_an_.u.ly?
@) . sifis Gpuiy eSpapd, sifs @iy eSzapid-

®)  ofs Gpiy sSsepid, GapLb iy eSsatb

© @mmsﬁs Spiy eisapid, @mwm LI sﬁww

@) @opis Gpon Spapid, oifs @iy Spepd

ACHCNT - T 7S



- 133.

134.

What are the components of Gross Domestic Capital formation?

A

®)
©)

" Gross domestic savings and government borrowings
Gross domestic savings and foreign institutional investment
‘Gross domestic savmgs and foreign direct investment

y Gross domestic savings and capital inflows and gross domestic ﬁxed capital formatmn

and change in stock

Qurgs 2 eTHTLH epgan sasHler @Ua'v;@ S [&ET WTeneu?

(A4) Qurgg 2 apr( CallLyser HHID Srflen SLense
®B) . Qurgs 2.dmpr( Cadluyser LHHD SwWSBTR Ppreuen @gcﬁ@&m
(C) Qurgg 2 empr( G&Lﬁluqsm LOHHID SWDBTF Crrg psd®
D) Qurgs eeapr @ GCsdliyser LD[DQILD POSE L GTEUTEUSET LHYID err,sg; p_mffbrrL_@
- flen@winen gp@get el DHDID GBI OTHHISED '
Match the foll%)wing : v .
(a) Hazari Report 1. To inquire the working of licensing system in
India -
(b) Subimal committee 2. Reviewed the working .of Industrial licensing -
- ' under Industries (D and R) Act 1951 .
(¢) Rangarajan committee 1993 3. Problems of untimely and madequate credlt
. - availabilities to SSIs :
(d) Nayek committee 1991 ' 4. Disinvestment of shares in PSEs
@® ® © @
A 4 2 3 1
@3 1 3 2 4
©. 2 1 3. 4
I 2 1 4 3
Sl pEeRTLeupepl QUTIHSSS :
() apsnh oiféms 1. @pfwureile 2 Awwp aperpuieen g isey Aeuisw
M) sG9voEyw ) 2.+ Qsmfe (R & D) siLid 1951 ér Lig. Qg;rrgé]cu 2 M
-. Qeweur_igener HIGHS®
() ogmsyrger G 1993 3. Sy QsnPesnsErs@ stob  gaudlu, udpTs
Gopwnen SLansenTe gHL@D Wrsfamenser ‘
d) prws e 1991 4 Qurgis geop Ppeuekisafar ung efihuemen
@ ® © . @
A 4 2 3 1
® 1 3 2 4
© 2 1 3 4
®) 2 1 4. 3

55 | "~ ACHCN7T
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135. Match List I with List II correctly and select your answer using the codee given below :
List I List IT (Art. of the constmmon of Ind1a)

(a) Finance commission 1. 148
(b) Union Public Service Commission 2. 280 -
(9 Election commission : 3. 315
(d) Comptroller and Auditor General of Indiad. 324 . .
Codes : - : S *
@ B © @ |
(A 4. 1 .2 3
2 3 4 - 1
© 4 3 2 1
D 2 1 4 3 |
afles I o auftens I1 g ener Qurr@gﬁ aflessEnig &;p Gsrr@m;uu;@amt sMwiren eﬁla)l_u.‘n]a)m-
GgfeyQawrs , _
auflens I ' 7 - aufiens IT (@ﬁ;ﬁm auﬁmaﬂér ayrEgiseT)
(@) PP geamub | 1. 148" SN
(b) wsHu Aurgl Leh Ggrreurra)mu.lm 2.7 280
(© Caiger yememnuid ' ~ 3. 315
(@ BpPwrelen gaeenio SETESOTT LOHOILD 4, 324
sepflsamawmeni ' .
GHSG :
@ e © @
Aa 4 1 2 3 .
®B 2 3 4 1
© 4 3 2 1
- D) 2 1 4 3

. 136. Art 338 of the Indian consututmn has prov1ded for the estabhshment of Wthh of the
’ .fo].lowmg commission?

(A) National Minorities Commlssmn .

National Commission for scheduled castes and scheduled tnbes
(C)  National Commission for women

D N atlonal Comxmssxon on the review of the workmg of the constltutnon

@pHu auﬂluma)mu:ﬂan 338 augy awgg &WL aps aqmmuuﬁlmar qrmu@;gs csrr@eﬂmg?
(A  Csfw Agunenepwulianit yeneRruLLD

B) CoAwulipued Gaarssat QLD
©) Czw wsefir S @RTLID
D) awﬂu.lwmu)uuﬁlan QswadL I'I'l._lq.a)GIT a&]mn&]&@m G,sélu.l q,maaru.lm

ACHCN7 B 11 N 3



137. Which one of the following statement is trué?

(A) - Assam has ten seats in Lok Sabha

d -A_runachal Pradesh has two seats in Lok Sabha
©) | Himachal Pradesh has seven seats in Lok Stha

V_ (D) Puducherry has two seats in Lok Sabha'
EPERTL THSE Sa DI £ HTMWLITRIE?

. '(A) . Siaveombd 10 urpm@soenpd Q,srr@ﬁ;msrru Gu,r_i)geirmg

B) merssaL GrGsed @&aﬁr@ gfn;rrr@mdng);i; QAsT@damer AuppidTarg
©) Qurésals qucﬁér.b G LTFTELEDS AgTESsamends Gu;_i)gm'Tng;

D)  ugiEGsh @rain® LD AsTEHE®er AUbpETaTg)

138. District administration and the office of District collector were introduced in India in the

year of

(A) 1857
w 17172
©) 1992
- (D) 1919

. @pHumailed tomeul ﬁr’rmﬁ&@nb omeul L U Swir ag@;sua)ém.i; SIMpstu@SSULL L 6@

(A) 1857
®) 1772
© 1992
D) 1919
. - o B ~ ACHCN7
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139. The Right to Informatlon Act came into force fully on -
(A)  12% June 2005 L B) 15 June 2005
g’ 12% October 2005 . (D) 15% October 2006

S5aU6D a.iﬂmm& UL LD QppenLWwing me@,omg)sg upS DLeRT(H
A) 12 O 2005 - (B) 15 g 2005
© 12 :&GLmui2005 | (D) 15'@idGLLT 2005,

140. The speaker of the Legislatiye Assembly is
| (A) Nominated by the Governor - .
W - Elected by the Legislative Assembly '

(C)  Nominated by ?h_e Chief Minist;,er
(D) Elected By the peopl_e .

wrhle L éhu@m ullesr FLINBIWISHT

(A - gy@prmed Huwend O&&@UQ@&]G&T{D&& :
B) s éuué)@uﬂmnéa Ggﬁgba.g@é;&u upflempmi
© Gpgw Sienwésre Huivand Qeiwiu@denpm

(D)  waseme CoipAsGEsiLGHapi
141. The office of the District Collector in India was created by T
(A) Lord Carnwallis - W Lord Warren Hastmgs "

(C)  Lord RéppOn ‘ _ (D) Lord Mayo

@pﬁwrre&m WreuL L %l_ﬁu.ln' SPIIDEFDS Ggrrpgd}lg,smrr

(A) smieneureliev Ay ' - (B) eumgen Gg@auqmao lﬁm )

©  Acuer Gyy . D)  wrCur Gy

ACHCNT = | 58



142. Article 75 clearly states that the council of Ministers is collectively responsible to
(A) Prime Minister (B) President ‘
‘N Lok Sabha " ‘ (D) Rajya Sabha

e 75— Ly WN(HEG DOEFTME! Sl _(HLI Glurrgnden..u.@;
(A) QyswwEHN - (B) @aLrs sl
(C) Ceorsgeum R D) Qg sun

143. In which General Election Electronic Voting Machines were used in all parliamentary
. constituencies ’ -

(A) 2009 General Elections
@r 2004 General Elections
© | 1996 General Elections
(D) 1999 General Elections

ThHS Gurrg,jg G;srrg,eﬁlev uS]smcoT@J uTEEG QUHSIL DTS urro’rr@mmm Qg;rr@;ﬂesaﬂ@m
LweUBHBSUIULLGI?

" (A) - 2009 Qurgs Caiige

-~ (B) 2004 Qurgs Caiige

(O . 1996 Qung)s Cairge
D) 1999 Aungys Carge

144. When the Constltutlon Act 1992 known as 73 Amendment came into force
(A) October 2, 1992 : (B) September 16, 1991
@ April 24, 1993 " (D) April 16, 1994

eiGuingl 73cugl s LSAMmSSD ey SidlwiulL 1992 ~ b et Sipflweaoly FLLD -

BOLPPNES QIHSE? »
(A =sGLmT2, 1992 _ (B) Qstiui 16,1991
(C)  aliyé 24,1993 | D) gure 16,1994
. S s o : ACHC/7
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'145.  Which one of the following thinkers called the Indiah Constitution aé;éxtzbimely»federal? '
' (A)  Sir Ivory Jennings , ' B) K.C. Where .
@ Paul Appleby = ' (D) ParasDiwan . .

Geraumbd  Apgamerwirerisaiie, eraut @@mn @pﬁu.l awé]mmmmumu a;ﬁ;s Sl LM &
,sarmmuanng Ted FadujeTenmi? ' .

(A) amageu:ﬂ Ggaraﬂmcm. - ‘ (B) Ga;.'aﬂ;(%mr'r :
©  uméd g | (D) ugmed Haumar

146. Under which Art1c1e can the Govemor reserve 'the bill for the eonmderatlon of the
' President? , _ .

@A 199 ' B) 200

Wzol . D) 202

GWrs gaoa)surﬂar @qu;gua;@ %@‘r_r,rr ThS eﬁlﬂuﬁ]aruu,. 0 mG&rrgsrrmm @ys& HUESOMD?
A 199 , - - (B) 200 ‘
©) 201 _ \ - D) 202

147. The Chief Electlon Commissioner of India can be removed from office durmg hlB tenure by
A The Chief Justice of India if some charges are proved against him
(B) Bythe President on the basis of a resolution of the union cabinet

(C) Bya committee consisting of Chief Justice of India, Law Mmmter of India and the
Vice-President of India

W By the President on'the basis of resolution paseed by the parlmment by two thirds
' majonty :

. @;bélu_l gem)emo G,srr,sw <24, u,se&] a;rrmg@co @@sgm Gu;rg Steueny ﬁagsu;;v@

A) Ao Gppssm Bsdr sunBsRadyrs }ﬂ@lﬂMUUL_I_ITG) BpHunclicn peaecnio Muﬁumm
T

B) omwssyenbc Gsrrsm@ auruu@D  ShomensHer alq.uuma_uﬂm @qml;&,s mmgrra)
ﬁmuul_o)rru: .

© @pSureden geoweno jﬁﬁuﬂ SLL DMDFST, LOHIND ga)ams @q.mvwe)mn en_rmﬂtu
B@ureD v

D) unq@marm,s@co 2/3 ukI@ Gqumurrarmmufﬁmgnw errem@ m}uuu_ gnmrrang,ﬁm
SlglumL e @u;u.w&ggamm Fmed ﬁ&a;uun_wlrm

ACHCN7T e e



148.

149.

150.

" The G.C.D. of x and y is: z.

Their L.C.M. is

“( = oo m =
.z o . y

© £ | @) **

®”
N

3

X HDID ¥ én BUQuEs Quig wGsH z, aeflé siaupBler Befy Quug DL G

@ 2 | ® =
2 , Yy

© = - o 2
x . . _ : z

In a class of 45 students, 9 students were absent on a particular day. What percentage of

the students were present
@A) 5% - | ®) 20%
v’ 0% | ®) -10%

@0 GO prafie, 45 LreTeuRrseT £ aTaT QR m@ulﬁlcb 9 wreRTaITEET uHens Frelldae erafld,

- ames shHs wraraisafar saaissms smekT

A 5% , » @) 20%
©) 80%  . ' D) 10%

If the product of two number is 800 and their LCM is 200, then the HCF is

@ 100 o [V, g

© 5 - @ 600

B Sos aramsaien ALipse Aprens 800 wHpI> Sieipfier LCM 200 crafes HCF én oy
@ 100 | S ® 4 |
© s R (D) 600

S ACHC7
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. 1_51; ‘Simplify: J4_8—SJ_75-J5+5§/1—8' ,
V2443 - T ® V2-48
(©) -V2+43 | o w none of thgse

&@é@sa_m—3ﬁ§—ﬁf5\/ﬁ .
@ V2443 - ® 23
© -V2+d8 | D @apdo gaplidmn -

- 152, " Which of the following is not the area.of triangle ABC?

1 . ’ 1., .
(A) Eab s;n ¢ ’ ® Ebh

© sG-6-HG-0 N Sdtn+hy)

ﬂdrm@mmmm&r «rgl ABC @péCaramgfen LyiLssner @gflns Sioe?

1, . | 1
A) Eabsmc . ‘ | ) Ebh

NEAGHG-0 © rdowmy

~153. If A can do a work in 60 days and B in 20 days. If they work bogether they complete; the

work in . A '
(A) 10 days » o \K 15 days
(©) 20days | . (D 17days

2@ Cauamaaw A wi{Gib 60 prisafigib, B LDL@LD 20 pr_sefigid Gedin @)Iq.li.]LDl‘l‘GleTa) @@m@m
Ceamg) acu('bma)a)mu_l G&u_nu Grmmma; BITL_&6T @I :

(A) IOQMW ' o B) 15prisdr
(C) 20 pm_sar o T D) 17pmser

ACHCNT e .



154. A fruit seller bought 10 boxes of grapés at T. 210 each. One box was damaged. He sold the
' remaining boxes at T, 250 each. Find the profit / loss percentage
(A) 7.14% loss - (B)  10.14% loss

W 7.14% profit o D) 10.14% profit

Q@ U efwrurf 10 Quiig. Syrlensaemer ¢(m GQL@ - 210 aligd eumidlammit. oidled g Auiiy,
Simles s SGADS. Lﬁg@em;n G]ul_lq.asmm @@ Quiiy @. 250 aremm eflewaéE epdmmi.

@eru [ Bl 6§6‘5§LD Siresor |
(&)  7.14% piiib (B 1014%piin
(C)  7.14% omubd : D) 10.14% eruwp

155. The difference between compound interest and snnple interest of pr1nc1pa1 P, at r% interest
for 2 years is

- 2 ' . - , 2
‘)( P(TOB) _ | B) .P(1+ﬁj

) r 2 ‘ . . r_z
© P[l—ﬁa) - ® P+(m)

o560 Pég r % eulig sﬁgm erafled, @UWT@ Q,,em@as@asgas Bi\.L_(BGLII_Lq.&;@lD &l aulig S@Ld 2 éer

algHwmsd
r\’ ’ : r Y
S
, 2 ' - , 2
© P(l——m—o) o P*(I@J

156.. LCM of two numvbers is 150 and their HCF is 4. If one number is 50, then the other number
‘ i - : - '
A 15 . ®B) 25

© 10 - v 12

@ erarsefiss LCM 150 wipmb HCF 4 gy@b. .;91@61) @@ eremr 50 Grasﬂcu wrp@gpn@ GTesT
4 15 | ®) 25
) 10 - ' D) 12 .
. 2 ) .' 63 | N - ACHCN7
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157. A man wants to stltch a cover for a c.p.u Whose length, breadth and hexght are 25 cm,
40 cm and 45 cm respectively. Find the amount he has to pay if it costs Rs. 40 per sq m

M Rs.27.40 . ®) Rs. 26.70
~(C) Re. 2260 = (D Rs.2530

Qe famnb, sisow HHID 2.wph anGu 25 G&LB 40 Qs18, 45 Q&S SISTAEDLII G C.D. 1, e&lg)@
2 OD MFESE eﬁ]@mqﬂmrﬂr e.oplar el 1 & I.SLI_@&@ m. 40 erdﬂw cslﬁu@&@ GTelGUaTaY

Qsaeun@w? o
@) 2740 o ®)  .26.70 |
(©  .2260 | | D) . 25.30

. 158. An article is marked 50% above the cost price upon the productlon pnoe and a dlscount of
40% is allowed. Then the gain or Ioss percentage is

\y( 10%loss ®) 12% loss
(©) 9% loss . © ‘8%egain

e Qurr(gar SiFeT n_g)uw Al mba 50% a@&mn& aﬂy)ua)ar aﬁlmwlulr& @;ﬂssuu@&mg
Cuogud ol 40% BeTEmLIg SiflclgEmed asu@e;@ da s@b erub/plib Ww
A)  10%priip (B) 12% BUAD

© 9% plLid - ‘D) 8% @i

159. A man cycles at the rate of 15 6 kmph How many metres does he cover in 2 minutes?
(4 31.2m ‘ ‘ . (B) 260m
v s520m | (D) 5200m

g@eui 15.6 &if/wafisg Gmsg@m L&,ﬂmmqu.‘ﬂa) umasﬂsﬁ;pnn St - qu@ 5ﬂuﬂ|_msaﬂw

_ srmcumm S sL_pHamunmi?
(A) 31.2m g - (B 260m
€ 520m S D) 5200m

ACHCN7 - e o .



160. The nuniber of proper subsets of the set A ={a, e,i,0,u} are

161.

162.

@ 3% | NG

© .32 : - (D) 33

A= {»a,A e,i,0,u} arafle 5@ a.@&mr‘ésa;aﬂdn aaaisms
4 30 : : (B) 31
C 32 (D) 33

LCM of % ,_% and % 18
@ 3 o ®) 8

6 ® 12

%,% wHHD % & LCM
@) 3 . | ® 8.
© 6 | . O) 12

I am a three digit number. Moreover I am a multiple of 10. When I am divided by 6, I leave

no remainder and if 4 is added to the quotient, 114 is obtained. What is my value?

A 220 ' : : (B) 440

© 550 - @ e

(BTGt Qr’r @ebr@mésa; craiT. Gogib 10 @er wLmE yGeuer. aeaman 6 o m(q,gg, Lﬁﬁuﬁ'lmgfﬂés
oL s@D reyLen 4-g& Coigsne, 114 Aeo_é b, arafls arangy oHC1ALIGTET?

A 220 . (B) . 440
© 550 R (D) 660

65 ACHC/7
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'163. The length of the arc of a sector havmg central angle 90° and radius 7 cm is
A) 22cm S ' B) 44cm

'y}.lcm-g " (D) 33cm

QUL mmmg@m BTG Garamrid 90° 1B LD 7 Q&US srsuﬂso QL. aﬁla)c&ar ferd
(A) - 22Qa8 : o (B) 44Qas8 -
©€) 116a8 - o (D) 33QeS

12 3] |1 4] [38 7 .
@ _ 23 - | ®) 2,-3

© 8-1 . | P81

2 .
* ! + 2c 3)_13 4 crafléy x -eir HOLHer
2 3 1 4)- |3 7 » o

@ 23 : | ® 2,-3 |
© 3-1 ® -3,1 :

2 ) . '
164. If [x l] + [Zx_ 3] = [3 4] , the values of x are

165. A man buye 3 tables and 12 chan's for Rs. 2,400. He. sells the tables at | proﬁt 20% and
chairs at a profit of 10% and makes a total profit of Rs.300. At what prme d1d he buy one

table? , ’ o
@ 10 \gm’-t.zoo I A
(C) ¥ 300 T D T250 S

geuer 3 Cuemgsdar wHpb 12 prpsnd Gmémssd oduampan . 2,400 5@ aumiigHpren.
Cueagsmer 20% arugSHbEwn ;jrrmsrrsﬂ Boémssmer 10% enrusdo aflheE Guug: . 300 QOMLILOITS
- Qupdprer erafléd @@ Cuageaw abs silmade amkidumiumes? ,

(A) T100 : » B) %200 .
© T30 : . (D) %250 .

166. The difference between the C.I and S.I for a-sum for two years at 8% rate of interest p a. is

Rs.40. What is the sum?
(A) T 2,000 o T 4,000

© 5500 | | ,,aa(tsz.ao

@@ QAsnenssE QramH gm@a@&@ 8% ey eiggHd a'ou_@ QJL_!q,.&@l.D pdl mu;a;@m 2 éverm
efigdluinad g5.40 crafie, <ib5 Agrens u.mg]?

(d) T 2,000 . (B) 4,000
(©) 5500 R (D) T6,250

ACHCAT ) e T



167.

168.

169.

170.

Who among the following is a recipient of 2017 year Padma Vibhushan Award?
Mr. K.J. Yesudas ' : '
(B) Mr. Ratna Sundar Maharaj. ‘_
(C) Ms. Anuradha Koirala '
(D)  Mr. Cho Ramasamy (Posthumous)
- h) G&q@é&DuLLmﬁa;aﬂ@ wrEE 2017-1b yarpésnen u{sl.b‘aﬂgeq;én afl(Bg cuprmisIul Lg?
A  Hm. Cs.0g. Cuasgme > '
®B) Ao vpen spsit LaDTITER o
(©) Qood sigyrrst Qsmigrem
D) | Am. Car. Qrmosmd (Qwps Ser)

Deen Dayal upadhayaya G‘ram-Jyoti Yojana is launched in India for
(A) Urban Empowerment (B) Semi urban Empowerment
(C) Panchayat’s Empowerment - M Rural Empowetme‘nt,
S@ swiner 2 ugwmur Sy Crd Curgearr @pHuneed arghars Agrkisl QuDDE?
A  pay Cubur® | B) Gu-per Cuobur® B
(C) - ugrerugg Cubur® D) &ymw Cuobur®
The 5274 Jnanpith Award w’ﬁs conferred on

\J Mr SankhaGosh . - (B) Mr. S.M. Khan

" - (C) Mr.Kailash Satyarthi . (D) Mr. N.K. Pandey

52 @sransL o (m g — - SIUTEEHES m@ré:as!;lut.l_gj.
A)  Hm.siast Canay B) . GTﬁ\?.GI‘L.D. STes
©€) 4w wsordy ssumig D) Hm. aan.Cs. unerGL
In which year, Parliament passed the HIV and AIDS (Prevention and Control) Bill?

@A) 2014 | . W 2017 ~
(C) - 2015 N @) 2005
aps <er® HIV wpmn AIDS (Qng&r{ﬁu wHpD S_EUUTR) wCsrgT ‘unun@mdrmgﬁé).
BeopCeupprinis g? ‘ o
(A) 2014 S | B) 2017
(©) 2015 L (D) 2005

67 - ACHC/17
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171.  Name the state which 1ssued Aadhar card in 100%.

W Telangana , (B) Pu'nja'b‘
©) Harygna : : (D) Tamilnadu

100 s5e0l8gh S5 S oL ulevan m_préné]@éfqr winflew erg1?
" (A) Osgimisrerr | - B ugpemi
©).  apurenr o D) sOPETH

172. The Kahnga theracy Award 2017 reoewed by
(A) Anand Neelakantan \ B) Haraprasad Das
©) Paramita Satapathy M All the above

2017, sdmsr @m&'ﬁtu afl(ma u.ur@&(g Q.IEQIBI&LILII_L.QJ? o
‘ A)  yenbs Bosarien : - (B) gpm_‘ﬂqsrrg S |
© umdrirssud (D) CopmPumadEen

173.  Which language is the first Classical language announced by Central GOVei'nmeri_t? )
~ (A) Sanskrit - _ (B) Malayalam ‘

(€C) Oriya - . .WTamil )

Ths Glplf@ g (ppens Aed@umnfluns iHu sipsrd aa;_f)]eﬁ]ei;‘aj.uuc_,_gl?. .

@A)  swwdmsp .  B)  weewrimd
© ghur ) sy
174. - 1n3ects genetlc code mto skm and replace the old cells
a \K Nano chip : " (B) "Nano material -
- (© Nano dot o - D) Nano screen
Ggﬁaﬂ@dr - — Qsgisd LMW Q&é;se»m qgﬂﬂéawn@. ‘
&)  prGem A - o (B) prGem Qurgfue -
©) mrGemr Ll . D)  prGenr cvfifien

AcHCNT . 68
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175. The first four countries plant their ﬂags' on the moon are
W America, Russia, China, India
(B) ~America, Russia, Japan, India
(C) America, Russia, France, Germahy
(D) Anierica, Russia, Japan, France

HloeSler séin Gamgemw ﬁnt‘.qu.: WGP BrenE Br(hEer
(A) aGmJﬂé;a;rr, Fegwm, mmﬁ, @bHwur

B) 2CQwAssT, gagwr, Uume, @QpHum -

(C) Quhssn, gagum, &Urreiﬂeiﬁ. Qggioefl

D) 2Quwlssn, Fegur, grinme, GyTere

176. | The 7th World Ayurveda Congress held in 2017 at |

-\ Kolkata - (B) New Delhi
(C) Mumbai - _ D) Goa

2017 b 2y, ehTiq DETE c;hprra)g] srauBse o TGaugn LT @ SMHSSIhED paL GLDHD QL 1b
A) Qarosgsm (B) . yg Heoved
(C) - @pwums | D) QCsreur

177. Who is the author of the book “What you can le‘arn from military principles”?
&) A.C. Kapur : \% Virender Kapoor
©) Sakshi Tharcor = (D) Ashwani Kumar

“Qunamieus AsneressaialBhg el Luldeug wng”? — Grsinb Bena er(pSwaut wimi?
(A) A.C. sy | : B) SCrHs st
C) onéafl s D) sagaunafl Gorr

178. International Yoga day is celebrated on
Wf 21t June B) -15%® Aﬁgust
(C) 21 July | (D) 15% September

sireuGgs .Gu_m.s;rrv Semd Qa;rrdur;’nguﬁ@m BF(@HLD LOTFAPLD
(A) 21 gren . - (B) 15 gysavl
©) 21g% e ' , D) 15Qs0wurr

* | 69 - ACHC/17
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179. Who is appointéd as 9t Secretary General of UNO?

(C) . Christopher wild .
. (D) Rony Abraham

& Br. seoLlfien 9™ Quingyé Qewenargrs. HLBESOLC L euf wi? /
(A) }q.d)l;r@d.l‘eﬁ ' _
(B) .ﬂ,éerL':lmﬂGu.lrr @LCILfreiu
©)  AfevCGLrur cneud)@ ‘ - e
(D) Grafl gyursmbd

180. Which country became 29t member of NATO? S
(A)  Brazil o . w Montenegro

(©) Belgium | | (D) Finland

abg pr “CplGLn” eflen 29™ o iy prrdujerarg?

(A) @G_rﬂﬁcb ' _ o B) wreangbsCyr -
(©)  Queguibd | D) Qeorpgy

181. The next Olympic‘Ganies is to be held at-+—~—_ in 2020.
(A) London - o (B). Singapore

W Tokso - | (D) Berlin

- 255 @edhb9s eflewemwum Baser 2020— \LBGDI_GI.J'ID. 2_areT @QLib
W ede B Susoyi
© GLms@Gur (D) QuireSienm

Y
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182.

183.

2The purpose of religion 1 is

(A) . to refine human beings emotlons

B) to sublimate human beings

(C) to transform human beings entire hfe

\M all the above

-

| &mug@m G@n&&mn& SINDEUG)

Q) vallgrg eaniéflsmeans gmummuu@gggso

(B) mqﬂgwq CuérewueLwé G&u.l,sw
©) wallgrg W amnpamamwb LIHHLEMLWE Qe
D) o smangg D

Which of the following statements regarding Madhva are correct?

. - He was one of the greatest Hindu scholars N

_ II. He was bbm in Udupi (Karnataka)

III. He wrote a éoinmentary on the Brahmasuthram

IV. He was born in Kerala

(A) All are correct | \K Only I, IT and_ Iﬁ are correct
(C) Iand Il are correct (D) L HIandIV are correct

ggeund sTRWTBaL W cursEwb erg) sMwmang)?

I @ps ws ey

II. asr'r(rém.&rrsﬂd) 2 arer 2 (Uil GpBeTT
III. QGrowvEsHrsdbs e-eop apduder
IV.  Gagenrefley Gmpsaut 7

A swamsgb s o B) I, I wpgyo II1 &M
©  1wpgo s | . @) I, I wpgnlV s

71
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184. Bharatamuni wrote

Pratljnya Yauganharayana

\% Natya Shastra,

© Swapnavasavadatta
D) Ramayana |

Urse agBug

A  YYdes Gwm&:ﬁ:‘anuﬁm@n _
®B)  pran enevdlgd |
(C) éumﬁmmnm S5ST
D) @omomueso,

185. To whom Thiruvadhirai Festival is celebrated? -

@
®)
v

[y

Lord Sakthi

Lord Muruga '
Lord Siva | .
Lord vGanesh

L

wrhée Soardor Hmelipr AsrarLm LLGADE?

@)
®)
©
1)

ACHC/17

B

SCemaen .
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186.

187.

188.

189.

Which of the following incorrectly matched?

(A) Thirunana Sambathar - vSathbuthura Markam

(B) Thirunavugarasar — Dhasa Markam

(C) Sundarar — Saga Markam _
Manigavasakar | —  Chithambara Markam

a1 sflwmer @enemrulldvanay?

Q)  SHoeransdbuBST - FHLST Lorrfrésemﬁ
®B) Q]@grrmés&q&r’r - & L[SITﬁ'é&\L'D
(C) s&payt - - &8 LDTT&HID

D) wreféseursat - Sgouy WS

In Navarathiri days last three days will be celebr\ated for

M Saraswathi Devi (B) Lakshmi Devi

(C) Durkka Devi (D) Parvathi Devi

peursHN Henuseficr @mid ey BreT QararrLm Lu@Geag
A)  ereveud CoellésEe B) Qo sl Coelw

() gjﬁé&n@gaﬁlé&@, v D) unieud CzellsE

For Paramayoga Jnana Arts are begin to study with
(A)  Full moon day S (B) Nomoon day
Vijayadasami Day (D) Dibavali Day

UGS @ Tens ésm@smmu Lidﬁlsug AT ATC YT
(A)  Queremi prer (B)  @wreurens mrer
()  efguigsd prer D) Sumeuef prer

Period of Pallava temples is

o AD 600-850 | | (B) AD 900 - 1150
(C) AD1150- 1350 (D) AD 1336 - 1565

ueeeu Camulldvseafien smeolb . _
(A) AD600 - 850 (B) AD900- 1150

(0O AD1150- 1350 - (D) AD 1336-1565

73
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190. Acbording to Vira—Saivism, the soul’s path for moksa is its devotion to the folloWing three

_ Anava, Kanma, Maya

\K Guru, Jangama Linga

(©)

@)

@
®
©
D)

, Nltyakarma, Naimitika karma, Kamyakarma I . .

Iecha sakthi, Jnana sakthi, Kirya sﬁkthi

BEWEULD, SELOLD, LOTEHILI

&, grﬁa;wrr, ALY I
Bswsiww, episds siob, a;rrﬁSluJ &IToLDd

Rsn 554, @ynen 558, Aflwur 68

SipsaarL apendgud ué;gﬁl QanaraiGs 2 1T péHumLaugpamer aul crenp eipevsand GHIBGeug |

191.' Which of the following Adiyars L1V1ng years are 1ncorrectly matched"

\M Thirunana sambanthar

Thn'unavukarsar

©)

(b)_

Stindarar

" Manigavasakar

21 years -
- 81 yeﬁré
18 years '

~ 32years

el amu.:rmesar TSN e[ NDBSTTEET craruﬁe) SUDTEN Q) HSUD srg?

(A)

®)

©
®)

ACHCN7

@@@rrm&muysgn

;ﬂ@mrrmuusrr

SHSyIT _
reNEsITFsST

21 yamipser

81 yen@edr

-~

18 gyeinGasr

32 yerr(psar
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192. The first sutra of advances the causal argument for the existence of God.
(A) .Brahma-sutra . - , \M ‘Sivajnanabodham '
(& Thevaram ) (D) Thiruvasagam

Renpeuct @@gg@&@& anjyewr-srflws mrrpgmgs @gm GsHrwnes QarerrLg

G :
(A) lﬁlqmm@sﬁqm . (B) eﬂm@mﬂcu rrgl.n
©) Gg,a.q rrm.o ' D) ﬁ@eu T&&LD

193. Cons1der the followmg statements :
" The purpose of judicial control over administration is

1. to control the polity and expenditure of the government

2. to ensure the legahty of official’s acts and thereby to safeguard the rights of the
’ citizens

3. to bring all officials under the control of the people

Which of the statements glven above is/are correct?

(A lonly & 2 only

(C) 2and3 , (D) 3 only

&Gy Qar@Résiu_Bearar cursfid GHSEH EMsH dghelss.
BiaursgBen By BHssimpen s GUum iy én Cpréstd
1. 28 aqa)muaiu SLOUUGSSIUE LOHDID STFTRIE GFvmas GMDSHH
2.  ofsrisdiar Lefseen &LI_H,II’QJLD!T& 2 s . G&umgm Q,oa)m G losaefien . o famw&er
ungisrésuuGEng)
3.  Siwangs a@smﬂawmm wéasafien 5|_®uurmqw QanarHeumse .

" GuCe 26T aMbg mrre;eﬂuJu) sflwrenenau :

@ locep T ® 2006
© 2wvogn3 p . D) 3wl

194. Which was the first country to introduce the Right to Information?

‘ (A) Canada - B) India
(C) Japan o ' \M Swedan
W e WHDD FHeu ngu.n 2 flenwen SiP s &g BT aTg?
A senn . _ B grPur
€) guumen . ‘ > D) eveliLen
. N ACHCN7
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195. Consuler the following about the characteristics of a professxon Chooae ﬂle correct code.

I Knowledge
II. . Organization
III.  Public good
IV. Dishonesty - SRR

7 1 Iand I only | (B) IVonly
(C) TandIVonly | (D) IIandIV only
Agmfdien @ LB Vb saperpé sSeue : SALITET Sahes Gﬁﬂ'm@
L aa;ﬁlaj | o -
II. s marsgsd
II.  Qurg pedr

IV, eyfwrwub - ,
4) LI, HI v G . B Voo

© LIVoipn - - (D) I IVl @i

196. Who is called an ideal doctor? !
"~ (A) - One who is far from his or her sister o
' \M One who is never far from his or her patient
*(C) One who is far from his or her father

(D) One.who is far from his or her mother
o Wi @a)l_ﬂu.: m@gja.lfr ey Wieny SienpsfGmmb?
(A 9@&:& Fer grﬁ:m&u&'ﬂ..ﬂ@;isg&l dled Qmliiueeny
B)  gmei ge CrmureiulLBmbE) eflesmod @@uummv
O ewmar g ghasd I.L&@}bgl dilod @muueey
®)

o gar sml_Bmibs Heod @@uummr}

197. Collegiality means

A

©
(D)

Tendency to support parents :

- Tendency to support and co-operate with oolleagues
Tendency to support brothers '
Tendency to support sisters

&L QUL TTUSET HTSSD

(A)
B)
©
D)

ACHCN7

Qu;b@pnfrsg;é@ %BTe| M wlamumaD

- s reflsEhaE psTe. @ES@PUY S WGMUTaLD

FCENFITEEHES ST SO wGemmiraid
sCanpRaEnEE 2 sray HmHH WCmTUTAID
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198. The “Conscientious objector” is

the Man ' | (B) the Monkey
(C) the Lion : D) the God
“wensr_few wHULGT o ’
A)  wveflgen : B) GreE-
(C) &msb , D) . @@mme&r

199. Corruption generates

() distortions | (B) inefficiency | ‘
(C) risk of breached agreements \W all the above '
~ em;peurréﬁ 2 (HuUmTaUg) o I
(A) Seapeyser : ‘ (B) Qswodlparpm Hlened
C) @uuBsEEme Bryb Ao ) (D) Guhser wreyhd

200. Métch the following Ethical terms with suitable options

List I List II
(a) Moral consciousnesss 1. . is the unity between responsibility of an individual in -
) his or her personal and professional life -
(b) Conscience 2.  Normative science
(c) Ethics ' 3. Faculty of the mind
(d) Integrity . 4. Reflective in character
@ © @
{A), 4 2 1 3
\ 4 3 2 1
T@© 3 1 4 2
o 2 3 1 4
EpsaL sipF Asmpaafien uligwe [-dlmog Lgwd [I-ew Qurpigys.
uiguied I U qwe IT
(a) ¢ussdfiuyemTia, ' 1.  @m pul gagieLw su- wHgd AsmPd glmpéEL e drer
' I Qurmin9en Agreiy
(b) wemsT 8 2. Qsmarens Sifleflwed
(©  =ipQue 3. . werHen RS
@ &upow 4. e QrHudoy
@ O © @
A 4 2 1 3
®B) 4 3 2 1 , ' .
) 3 1 4 2 , ' , '
O 2 3 1 - 4

L 2 S & ACHC/17
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‘Reg‘ieterv
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2017 _
GENERAL STUDIES -
Time Allowed : 3 Hours] o | | . '_ | Eanmm Marks 300

* Read the following mstructlons carefully before you begin to answer the questmns.

10.
11
12.
13..

IMPORTANT INSTRUCTIONS

The appheant will be supplied with Question Booklet 10- minutes before eommencement of the
examination. This Booklét has a cover (this page). -

This Queahon Booklet contains 200 questions. Prior to. attemptmg to answer the candidates are
requested to check whether all the questions are there and ensure there are no blark pages in the
question booklet. In case any defect in the Question Paper is noticed it shdl ke reported to the
Invigilator within first 10 minutes and get it replaced with a complete Questlon Booklet.
If any defect is noticed in. the Question Booklet after the commencemant ¢f enminatmn it

- will not be'replaced.

Answer all questions. All questions carry equal marks. ' ' -

You must write your Register Number in the space provided on the top right side of thxs page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Invigilator to mark the answers. -

You will also encode your Register Number, Sub]ect Code, Question Booklet S1. No etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. H you do not encode
properly or fail to encode the above information, action will be taken as per comamission’s notification.
Each question comprises four responses (A), (B), (C) hnd (D). You are to seldet GNLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct.
response, mark the response which you consider the best. In any case, chooge ONLY ONE response for

each question. Your total marks will depend on the number of oorrect respons“ ‘mirked by you in the
Answer Sheet.

In the Answer Sheéet there are four circles &) ,(®), ©) and @ against each question. To answer the -
questions you are to mark with Ball point pen ONLY ONE circle of your choice for esich question. Select
one responge for each question in the Question Booklet and mark in the Answer. Sheet If you mark
more than one answer for one question, the answer will be treated as wrong. e.g If i:r any item, (B) is
the correct answer, you have to mark as follows :

2000 .

You should-not remove or tear off any sheet from thxs Questlon Booklet. You gre not allowed to take

v thJs Questmn Booklet and the Answer Sheet out of the Exammatlon Hall dunn' the exammauon

* The sheet before the last. page of the Quéstlon Bookletcan be used for Rough Work.
“In all matters and in cases of doubt, the English Version is final. :

Do not tick-mark or mark the answers in the Question Booklet. -

Failure to comply with any of the above mstruchons will render you liable to such action or penalty as
the Commission may decide attheir dxscretlon

.’\



